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ENGLISH

Time allowed : 3 Hours Max. Marks : 100

i) This paper is divided into Four Sections : A, B, C, D. All sections are compulsory.
ii) Do not exceed the word limit wherever prescribed while answering the questions.
iii) Candidates are required to answer the questions in their own words as far as

practicable.

Section - A

1. Read the passage given below and answer the questions that follow :
1) Water is the basis of all life. Every animal and every plant contains a substantial

proportion of free and combined water in its body and no kind of physiological
activity is possible in which the fluid does not play an essential part. Water is,
of course necessary for animal life, while moisture in the soil is equally im-
perative for the life and growth of plants and trees, though the quantity neces-
sary varies enormously with the species. The conservation and utilisation of
water is thus fundamental for human welfare. Apart from artesian water the ulti-
mate source in all cases is rain or snowfall. Much of Indian agriculture depends
on seasonal rainfall, is therefore very sensitive to any failure or irregularity of
the same. The problems of soil erosion and of inadequate or irregular rainfalls
are closely connected with each other. It is clear that the adoption of techniques
preventing soil erosion would also help to conserve and keep the water where it
is wanted.

2) It is evident that in a country having only a seasonal rainfall an immense quantity
of rainwater must necessarily run off the ground. The collection and utilization
of this water is, therefore, of vital importance. The harnessing of our rivers, the
waters of which now mostly run to waste, is a great national problem, which
must be considered and dealt with on national lines.

3) Closely connected with the conservation of water supplies is the problem of
afforestation. The systematic planting of suitable trees in every possible area
and the development of what one can call civilized forests is one of the most
urgent needs of India. Such plantation would directly or indirectly prove a source
of untold wealth to the country. They would check soil erosion and conserve the
water.

4) The measures necessary to control the movement of water and conserve the
supplies of it can also serve other purposes of value to the life of a country side.
We hear much about programmes of rail and road construction, but for too
little about the development of internal waterways in India. Then again the har-
nessing of water supplies usually makes possible the development of hydro-
electric power. The availability of electric power would make a tremendous
difference to the life of the countryside and enable rural economy to be im-
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proved in various directions.
A) a) Why is water the basis of all life ?

b) What is the source of water ?
c) How can we conserve and keep water ?
d) What is the great national problem ?

OR
What is the urgent need of India ?

e) What makes possible the development of hydro-electric power ?
5 x 2 = 10

B. Find words in the passage having meanings similar to phrase / words given be-
low :
a) Vastly (Para 1)
b) Clear (Para 2) 2

2. Read the following passage carefully and answer the questions that follow :
1) How you can best improve your English depends on where you live and particu-

larly on whether or not you live in an English speaking community. If you hear
English spoken everyday and mix freely with English speaking people, that is on
the whole, an advantage. On the other hand, it is often confusing to have the
whole language, poured over you at once. Ideally, a step by step course should
accompany or lead upto this experience. It will also help a great deal if you can
easily get some English books in which you are interested.

2) To read a lot is essential. It is stupid not to venture outside the examination ‘set
books’ or the text books you have chosen for intensive study. Read as many
books in English, as you can, not as a duty but for pleasure. Do not choose the
most difficult books, with the idea of listing and learning as many new words as
possible; choose what is likely to interest you and be sure in advance that it is
not too hard. You should not have to be constantly looking up new words in the
dictionary, for that deadens interest and checks real learning. It is extensive and
not                    intensive reading that normally helps you to get interested in extra
reading and thereby improves your English. You should enjoy the feeling which
extensive reading gives of having some command of the language. As you read
you will become more and more familiar with words and sentence patterns, you
already know, understanding them better and better as you meet them in more
and more contexts, some of which may differ only slightly from others.

3) Some people say that they cannot learn to speak a language better with the help
of a book. To believe this is to believe that the spoken language and the written
language are quite different things. This is not so. There is a great deal in com-
mon between the two. In learning the patterns and vocabulary of the written
form, we are learning to a considerable extent those of the spoken forms too.

a) On the basis of your reading of the above passage, make notes on it, using rec-
ognizable abbrevations wherever necessary.                     5
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b) Find words from the passage which mean the same as the following :
i) puzzling (para 1)
ii) Kills (para 2)
iii) great (para 3) 3

Section - B

3. Describe an incident which you can not forget in about 80 - 100 words.
OR

A quiz contest was recently held in your school. You were a member of the team of
your school. Your team won the team trophy. You have been asked to prepare a report
about the event in about 80-100 words.        4

4. Write an article for a newspaper on the growing evil of drug addiction among the youth.
Write your article in about 100-150 words.

OR
The World Environment Day is to be celebrated in your school. Prepare a speech on
this topic in about 100-150 words.         8

5. You are Akanska / Sumit from Shimla. Write a letter to the Editor of a newspaper
against rash - driving causing a number of deaths especially of youngsters.

OR
You are Nandita / Naveen. You have seen an advertisement for the post of an English
Teacher in a Public School in Shimla. Write a letter in response to the advertisement
applying for the post. Give your detailed biodata also.         8

Section - C

6. Do as directed :
a) _____________________ mother is a very good cook. (Determiner)
b) It (rain) since morning (Correct form of the verb).
c) Work hard. You are sure to succeed. (Join into a compound sentence).
d) You ___________________ to obey your parents. (Suitable modal) 4

7. The following sentences has not been edited. There is one mistake in each sentence.
Underline each error and write your correction:
a) He is prepared of anything __________________________
b) He killed two birds by one shot __________________________
c) The earth move round the sun __________________________
d) My friends meet the principal yesterday __________________________

4

8. Re-order the words in the following sentences to form meaningful sentences :
a) alone / bad / in / a / company / Better / than.
b) achieving / succeeded / aim / in / He / his. 2
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Section - D

9. Read the extract given below and answer the questions that follow :
Upward to heaven, whence, vaguely formed, altogether
Changed and yet the same.
I descend to lave the droughts, atomies,
dust layers the globe.
And all that in them without me were seeds only,
latent, unborn.

i) Name the poem who speaks these lines ?
ii) Where is the rain formed ? What change does it undergo in the sky ?
iii) Where does it descend ? What does it do there ?
iv) What will happen to the seeds without rain ?

OR

Where did my childhood go ?
It went to some forgotten place.
That’s hidden in an infant’s face,
That’s all I know.

i) What does the poet wonder about in these lines ?
ii) Where did the poet’s childhood go, according to him ?
iii) What is the forgotten place ?
iv) What does the poet want to convey through these lines ? 1 x 4 = 4

10. Answer the following questions in about 30 words each : (any 2)
a) What is the poet’s feeling towards childhood ?
b) How is the father’s helplessness brought out in the poem ?
c) What does “this circumstance” refer to ? 2 x 3 = 6

11. Answer any five questions (upto 30 words each) :
a) How are the earth’s principal biological systems being depleted ?
b) Why the title ‘Silk Road’ has been opted for the lesson ?
c) What do you understand by the terms ‘outsider art’ and ‘art brut’ or ‘raw art’ ?
d) Why King Tut’s body has been subjected to repeated scrutiny ?
e) Describe the mental condition of voyagers on 4th and 5th January ?
f) Mention three ways in which the author’s grand mother spent her days after he

grew up ?
3 x 5 = 15

12. Answer any one of the following questions : (about 100 - 125 words)
The author’s grandmother was a religious person. What are the different ways in which
we come to know this.
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OR
“The landscape is an inner one, a spiritual and conceptual space,” Describe. 10

13. Answer any one of the following questions : (upto 100 words)
Did the boys return the horse because they were conscience - stricken or because they
were afraid ?

OR
What do you understand by Eienstein’s nature from his conversation with his history
teacher, his mathematics teacher and the head teacher ?         7

14. Answer any two short answer questions : (upto 30 words each)
a) How did the writer come to know about Shahid’s approaching death ?
b) Describe Dr. Andrew’s efforts to revive the child.
c) “The address” is a story of human predicament that follows war. Comment.

4+4=8
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uksV %& lHkh iz’u vfuok;Z gSa vkSj lHkh iz’uksa ds vad vUr esa lkeus fn, x, gSaAuksV %& lHkh iz’u vfuok;Z gSa vkSj lHkh iz’uksa ds vad vUr esa lkeus fn, x, gSaAuksV %& lHkh iz’u vfuok;Z gSa vkSj lHkh iz’uksa ds vad vUr esa lkeus fn, x, gSaAuksV %& lHkh iz’u vfuok;Z gSa vkSj lHkh iz’uksa ds vad vUr esa lkeus fn, x, gSaAuksV %& lHkh iz’u vfuok;Z gSa vkSj lHkh iz’uksa ds vad vUr esa lkeus fn, x, gSaA

iz01- fuEufyf[kr x|ka’k dks /;kuiwoZd i<+ dj uhps fn, x, iz’uksa ds mÙkj nhft, %&

Hkkouk dk lalkj cM+s gh laosnu’khy ,oa lqdksey lw=ksa ls cuk&cquk gqvk gksrk gSA usg]

izse] n;k] d:.kk] HkfDr vkfn bl txr ds vyH;&vueksy txexkrs jRu gSaA lEcU/kksa dh

cqfu;knsa bUgha ij jph tkrh gSaA lEcU/kksa dh laosnu’khyrk ge lcdks ckU/ks j[krh gSA

viuksa ds xk<+s izse ls NwVus ,oa nwj tkus dk eu gh ugha djrk gSA feyu dh iqydu ,oa

foNksg dk vlhe nnZ] ?kuhHkwr Hkkoukvksa dk lgt ifj.kke gSA vius vkSj ijk, ds chp

dh nwjh dqN ugha cl] Hkkoukvksa dh U;wukf/kdrk gSA izse dh izcyrk ls Qklys feVrs gSa]

ijUrq izse dh deh ls nwjh c<+rh gSA Hkkoukvksa dh l?kurk vUrj esa r`fIr iznku djrh gSA

ekuoh; psruk ds fodkl esa ;gh eq[; Hkwfedk fuoZgu djrh gSA Hkko ls nsork izlUu gksrs

gSaA Hkxoku Hkh Hkkouk dks gh ilUn djrs gSaA Hkkouk dk vk;ke cM+k O;kid ,oa foLr`r

gSA ekuo ls ijekRek rd QSyk Hkkouk dk tky vR;Ur vkd”kZd gSA blls ikj ikuk ugha]

cfYd blh esa cguk] ijekRe psruk rd igqapuk gh bldk ewy mís’; gksuk pkfg,] ijUrq

lEcU/kksa esa my>k eu vius lhfer ifjdj esa gh lUrq”V jguk pkgrk gSA

1- Hkkouk dk lalkj D;k gS\

2- bl txr ds vyH; vkSj vueksy jRu dkSu&dkSu ls gSa\

3- ekuoh; psrukvksa ds  fodkl dh eq[; Hkwfedk D;k gS\

4- Hkkouk dk eq[; mís’; D;k gS\

5- mi;qZDr x|ka’k dk mfpr ’kh”kZd nhft,A      ¼2×5=10½

iz02- fuEufyf[kr i|ka’k dks /;kuiwoZd i<+dj uhps fn, x, iz’ukas ds mÙkj nhft, %&

iYyo&iYyo esa uoy :f/kj]

i=ksa esa ekaly jax f[kyk

vk;k uhyh&ihyh ykS ls

iq”iksa ds fpf=r nhi tykA

v/kjksa dh ykyh esa pqids

dksey xqykc ds xky yxk

vk;k ia[kqfM+;ksa dks dkys&

ihys /kCcksa ls lgt ltkA

1- dfo izd`fr esa fdlds vkus dh ckr dj jgk gS\

2- xqykc dh ykyh fdldks ytk jgh gS\

3- ia[kqfM+;ksa ij ifjorZu dk D;k izHkko gS\

4- i|ka’k esa fdldk fp= vafdr gS\

5- mi;qZDr i|ka’k dk mfpr ’kh”kZZd nhft,A       ¼2×5=10½

iz03- lapkj ls D;k vfHkizk; gS\ blds rRoksa ij izdk’k Mkfy,A

vFkok

ukVd vkSj fQYe dh iVdFkk esa D;k vUrj gksrk gS] Li”V dhft,A ¼5½
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iz04- i=dkfjrk D;k gS vkSj mlds izeq[k izdkjksa dk o.kZu dhft,A

vFkok

dk;Zo`Ùk ls D;k vfHkizk;% gS] vius fo|ky; esa gq, iqjLdkj forj.k lekjksg dk dk;Zo`r

rS;kj dhft,A    ¼5½

iz05- fdlh ,d fo”k; ij yxHkx 150 ’kCnksa esa lkjxfHkZr fucU/k fyf[k,%&

¼d½ i;kZoj.k ,oa iznw”k.k

¼[k½ vk/kqfud f’k{kk iz.kkyh xq.k ,oa nks”k

¼x½ lekt esa c<+rh u’ks dh izo`fÙk]

¼?k½ fgekpy ds i;ZVu LFky]

¼³½ fo|kFkhZ vkSj jktuhfr]

¼p½ orZeku ;qx esa lwpuk&izkS|ksfxdh dk egRoA       ¼5½

iz06- uxjikfydk v/;{k dks vius eqgYys dh fcxM+rh lQkbZ&O;OkLFkk ij /;ku vkdf”kZr djrs

gq, ,d f’kdk;rh&i= fyf[k,A

vFkok

;ksx dh egÙkk ij izdk’k Mkyrs gq, vius fe= dks ,d i= fyf[k,A ¼5½

iz07- fuEufyf[kr i|ka’k dh lizlax O;k[;k dhft,%&

lk¡lfu gh lkSa lehj x;ks v:] vk¡lqu gh lc uhj x;ks <fjA

rst x;ks xqu yS viuks] v: Hkwfe xbZ ru dh ruqrk dfjAA

^nso* ft;S fefycsgh dh vkl fd] vklgw ikl vdkl jg~;ks Hkfj]

tk fnu rS eq[k Qsfj gjS g¡fl] gsfj fg;ks tqfy;ks gfj tw gfjAA

vFkok

ck¡/k yssaxs D;k rq>s ;g ekse ds ca/ku lthys\

iFk dh ck/kk cusaxs frrfy;ksa ds ij jaxhys\

fo’o dj ØUnu Hkqyk nsxh e/kqi dh e/kqj xqUkxqu]

D;k Mqck nsaxs rq>s ;g Qwy ds ny vksl&xhys\

rw u viuh Nk¡g dks vius fy, dkjk cukukA

tkx rw>dks nwj tkukA ¼5½

iz08- fdUgh rhu iz’uksa ds mÙkj nhft, %&

¼d½ ^vjs bu nksgqu jkg u ikbZ* ls dchj dk D;k vk’k; gS vkSj os fdl  jkg dh

ckr dj jgs gSa\

¼[k½ ^inekdj ds dkO; esa vuqizkl dh ;kstuk vuwBh cu iM+h gSaA mDr dFku dks izFke

in ds vk/kkj ij Lki”V dhft,A

¼x½ lU/;k ds le; izd`fr esa D;k&D;k ifjorZu gksrs gSa] dfork ds vk/kkj ij fyf[k,A

¼?k½ ex/k ds ek/;e ls ^gLr{ksi* dfork fdl O;oLFkk dh vksj b’kkjk dj jgh gS\

      (3+3+3=9)

iz09- fuEufyf[kr iafDr;ksa dk dkO; lkSan;Z Li”V dhft, %&

gkSa rks ’;ke&jax esa pqjkbZ fpr pksjk pksjh]

cksjr rkSa cksj;ks iS fupksjr cuS ughaAA

fgUnh
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vFkok

rV ij cxqyksa&lh o`)k,¡

fo/kok,¡ ti /;ku esa exu]

eaFkj /kkjk esa cgrk

ftudk vn`’;] xhr varj&jksnu! ¼6½

iz010- fdlh ,d dfo dk lkfgfR;d&ifjp; nhft, %&

¼d½ lwjnkl ¼[k½ egknsoh oekZ ¼x½ lqnkek ikaMs; /kwfeyA     ¼5½

iz011- fuEufyf[kr x|ka’k dh lizlax O;k[;k dhft,%&

tgka vU/kdkj gS] ogha izdk’k gSA vU/kdkj esa izdk’k dh fdj.k gS] tSls izdk’k esa vU/kdkj

dh fdafpr dkfyek gSA izdk’k Hkh gSA izdk’k ckgj ugha gS] mls varj esa [kkstksA varj esa

cq>h ml T;ksfr dks txkvksA eSa rqe lcdk ml T;ksfr dks txkus ds  fy,  vkg~oku djrk

gw¡A eSa rqEgkjs Hkhrj ogh ’kk’or T;ksfr dks txkuk pkgrk gw¡A gekjs ^lk/kuk eafnj esa vkdj

ml T;ksfr dks vius Hkhrj txkvksA

vFkok

tks yksx vius dks ns’k fgrS”kh yxkrs gksa] og vius lq[k dks gkse djds vius /ku vkSj eku

dk cfynku djds dej dl ds mBksA ns[kk&ns[kh FkksM+s fnu esa lc gks tk,xkA viuh

[kjkfc;ksa ds ewy dkj.kksa dks [kkstksA dksbZ /keZ dh vkM+ esa dksbZ ns’k dh pky dh vkM+ esa]

dksbZ lq[k dh vkM+ esa fNis gSaA mu pksjksa dks ogk¡&ogk¡ ls idM+&idM+ dj ykvksA mudks

ck¡/k&ck¡/k dj dSn djksA ge blls c<+dj D;k dgsa fd tSls rqEgkjs ?kj es dksbZ iq:”k

O;fHkpkj djus vkoS rks ftl Øks/k ls mldks idM+dj ekjksxs vkSj tgka rd rqEgkjs esa ’kfDr

gksxh mldk lR;kuk’k djksxsA mlh rjg bl le; tks&tks ckrsa rqEgkjs mUufr iFk esa dk¡Vk

gksa] mudh tM+ [kksndj Qsad nksA    ¼5½

iz012- fdUgha rhu iz’uksa ds mÙkj nhft, %&

¼d½ ^cPps gkfen us cw<+s gkfen dk ikVZ [ksyk FkkA cqf<+;k vehuk ckfydk vehuk cu

xbZ*A bl dFku esa ^cw<+s gkfen* vkSj ^ckfydk vehuk* ls ys[kd dk D;k vk’k; gS\

Li”V dhft,A

¼[k½ T;ksfrck Qqys us fdl izdkj dh ekufldrk ij izgkj fd;k vkSj D;ksa\

¼x½ mu yM+dksa us dSls fl) fd;k fd tkudh flQZ ek¡ ugha Hkkjrekrk gS\ dgkuh ds

vk/kkj ij mldk pfj=&fp=.k dhft,A

¼?k½ ^xwaxk n;k ;k lgkuqHkwfr ugha] vf/kdkj pkgrk Fkk*& fl) dhft,A

(3+3+3=9)

iz013- fdlh ,d fucU/kdkj dk lkfgfR;d ifjp; nhft, %&

¼d½ izse pUn ¼[k½ HkkjrsUnq gfj’pUnzA ¼6½

iz014- fdUgha nks iz’uksa ds mÙkj nhft, %&

¼d½ ^vaMs [kkuk] pandkark larfr* i<+uk vkfn fdUgha lUnHkksZ esa xyr ugha gS] fQj Hkh

ukVd ds ik= bUgsa fNidj djrs gSaA D;ksa\ vki mudh txg gksrs rks D;k djrs\

fgUnh
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¼[k½ ys[kd us vius ikap fe=ksa ds tks ’kCn fp= izLrqr fd, gSa] muls muds vyx&vyx

O;fDrRo dh >yd feyrh gSA fQj Hkh os ?kfu”B fe= gSa dSls\

¼x½ ’kjr~ dh jpukvksa esa muds thou dh vusd ?kVuk,a vkSj ik= ltho gks mBs gSaA

ikB ds vk/kkj ij foospuk dhft,A   4 $ 4 = 8

iz015- ¼d½ ^^ijk;k ?kj rks yxrk gh gS] HkkHkh**&viuh HkkHkh&HkkbZ ds dejs esa ’;ke  dks

ijk,iu dk vglkl D;ksa gksrk gS\

vFkok

^vkokjk elhgk*&ikB ds vk/kkj ij crkb, fd ml le; ds vkSj orZeku le; ds

i<+us&i<+kus ds rkSj&rjhdksa esa D;k vUrj vkSj lekurk,a gSa] vki i<+us&i<+kus ds

dkSu&ls rkSj&rjhdkas ds i{k es gSa vkSj D;ksa\    ¼4½

¼[k½ çpkj&çlkj ds iqjkus rjhdksa vkSj orZeku rjhdksa esa D;k QdZ vk;k gS & gqlSu dh

dgkuh viuh tokuh & ikB ds vk/kkj ij crk,aA

vFkok

ukuk ds ?kj fdu&fdu ckrksa dk fu”ks/k Fkk\ ’kjr~ dks mu fuf”k/k dk;ksZa dks djuk

D;ksa fiz; Fkk\    ¼3½

fgUnh
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HISTORY

Time : 3 hrs Marks 100

General Instructions
lkekU; funsZ’k %

Note :
1. 2 vad okys ç’u dk mÙkj 30 ‘kCnksa esa fnft,A

Give answer to 2 marks questions upto 30 words.
2. 3 vad okys ç’u dk mÙkj 40 ‘kCnksa esa fnft,A

Give answers to 3 marks questions upto 40 words.
3. 4 vad okys ç’u dk mÙkj 80 ‘kCnksa esa fnft,A

Give answers to 4 marks questions upto 80 words.
4. 5 vad okys ç’u dk mÙkj 100 ‘kCnksa esa fnft,A

Give answers to 5 marks questions upto 100 words.
5. 6 vad okys ç’u dk mÙkj 120 ‘kCnksa esa fnft,A

Give answers to 6 marks questions upto 120 words.
6. ekufp=ksa dks mÙkj iqfLrdk ds lkFk /kkxs ls cka/kksA

Maps should be securely tied in answer book.

1) ^gkseks* ‘kCn ls vki D;k le>rs gSa \ ^gkseks* dh rhu çtkfr;k¡ crk;saA

What do you understand by word Homo? Give three genus of Homo. 2

2) viektZu vkSj laxzg.k ls vki D;k le>rs gks \

What do you understand by terms Scavenging and Gathering. 2

3) vkx dh [kkst us vkfnekuo ds thou dks dSls çHkkfor fd;k \

What were effects of Invention of fire on Early man. 2

4) eslksiksVkfe;k dk vk/kqfud uke D;k gS \ ;g fdu nks ufn;ksa ds e/; fLFkr gS \  2

What is Modern name of Mesopotamia? In between which two rivers it is situated.

5) mj uxj dh dksbZ rhu fo’ks”krk,¡ fyf[k,A

Write three characteristics of UR. 2

6) fxYxsfe’k ds egkdkO; dh jpuk dc dh xbZ FkhA bls fdruh ifêdkvksa ij fy[kk x;k Fkk \

When Epic of Gilgamesh was written. On how many tablets it was written. 2

7) jkseu lkezkT; fdu rhu egk}hiksa esa QSyk gqvk Fkk \

Write the names of three continents where Roman Empire was founded. 2

8) bLyke /keZ ds laLFkkid dkSu Fks \ mudh nks f’k{kk;sa crk;saA

History
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Who was founder of Islam. Write two teachings of HIM. 2

9) ugj vkSj jsyos ds ifjogu ds lk/ku ds :i esa D;k&D;k ykHk gS \

Write Merits of Canals & Railways as means of transportation. 2

10) dkSu lh ubZ [kk| oLrq,a nf{k.kh vesfjdk ls ckdh nqfu;k esa Hksth tkrh Fkh \

Which new Agriculture produces were Exported to world from South America.
2

2 x 10 = 20
11) ifg, dh [kkst dk egRo fyf[k,A

Write merits of discovery of wheel. 3

12) lkeUr çFkk ds xq.k fy[ksaA

Write merits of Feudalism. 3

13) ,atVsd vkSj eslksiksVkebZ lH;rk dh rqyuk dhft,A

Compare Aztec of Mesopotamia cultures. 3

14) ^est+h iquZLFkkiu* ls D;k Hkko gS \

What do you understand by Meiji Restoration. 3

15) eaxksy dkSu Fks \ eaxksyksa ds fy;s O;kikj D;ksa bruk egRoiw.kZ Fkk \

Who were Mangols? Why trade was important to them. 3

16) e/;dky fdls dgrs gSa \ bldh çeq[k fo’ks”krk;sa fyf[k,A

What do you understand by Medieval period. Write it’s main characteristics. 3

17) /keZ lq/kkj vkUnksyu D;k Fkk \ bl vkUnksyu ds nks dkj.k fy[kksA

What was Reformation. Write two causes of Reformation. 3

18) vkLVªsfy;k dh [kkst+ fdlus dh \ ;wjksfi;uks vkSj vkLVªsfy;k ds ewy fuokfl;ksa ds

lEcU/k D;ksa fcxM+ x;s \

Who discovered Australia? Why relations between Europeans & Australian natives got
strained?         3

19) ekvks&Rls&rqax ds thou ij laf{kIr uksV fy[kksA

Write brief note on life of Mao-tse-Tung. 3

20) Ýkal ds lQZ vkSj jkse ds nkl ds thou dh rqyuk dhft,A

Compare the lives of Serf in France & slave in Rome. 3

21) ys[ku dyk dk D;k egRo gS \

History
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Write the importance of development in writing. 3
3 x 11 = 33

22) gknt+k tu lewg ds fo”k; esa vki D;k tkurs gksa \

Describe ‘HADZA Group’ in detail. 4

23) ;wjksi o ,f’k;k ij /keZ;q)ksa dk D;k çHkko iM+k \

What were effects of Holywars on Europe & Asia 4

24) jkseu lH;rk ds iru ds pkj dkj.k crkvksA

Write four causes of downfall of Roman civilization. 4

25) HkksxkSfyd [kkstksa ds D;k dkj.k Fks \

What were the causes of Geographical discoveries. 4
4 x 4 = 16

26) ek;k yksxksa dh vfr egRoiw.kZ miyfC/;k¡ D;k Fkh \

What were distinguished achievements of Mayans. 5

27) vkS|ksfxd Økafr ls vki D;k le>rs gksa \ os nks dkj.k fy[kks ftuls baXySaM esa gh

igys&igy vkS|ksfxd ØkfUr ‘kq: gqbZ \

Describe Industrial Revolution? Write two causes which led to Industrial Revolution
first of all in England.         5

28) vkfnekuo ds Hkkstu çkIr djus dh fof/k;ksa dk o.kZu djsaA

Describe ways of Gathering food by Early man. 5
5 x 3 = 15

29) lkezkT;okn ls vki D;k le>rs gks \ mu ;wjksih; ns’kksa ds uke fy[ks ftUgksaus

lkezkT;okn dks c<+kok fn;kA

What do you understand by Emperialism ? Give the names of those Europian Countries
that encouraged Emperialism.           6 x 1 = 6

30) ;wjksi ds ekufp= ij ;kstukc) f’kdkj ds çek.k fdu LFkkuksa ij feysa] fpfUgr djsaA

On the outline map of Europe, mark those places from where evidences of planned
hunting was found.

;k

vÝhdk ds ekufp= ij og LFkku n’kkZ,a tgka ls nkl çkIr fd;s tkrs FksA

On the outline map of Africa, mark those places from where slaves were obtained.
10

History
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ECONOMICS
vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=vFkZ’kkL=

Time : 3hrs.       M.M.100
General Instructions ¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½

1- lHkh iz’u vfuok;Z gSaA

All questions are Compulsory.
2- iz’u ds lHkh Hkkxksa dk mÙkj ,d gh LFkku ij nsaA

Parts of one question should be attempted at one place.
3- izR;sd iz’u ds vad iz’u ds lkeus fn, x, gSA

Marks of each question are given in front of it.

iz01- i) cgwopu ds :i esa lkaf[;dh dk D;k vFkZ gSaA

Write down the meaning of Statistics in plural sense.
ii) izkFkfed vkdM+sa fdls dgrs gSaA

What is the Primary data.
iii) lwpdkad ls D;k vfHkizk; gSA

What is an index number.
iv) vkdM+ksa ds oxhZdj.k ls D;k vfHkizk; gSA

What do you understand by ‘Classification of data’. (1×4=4)

iz02- izkFkfed rFkk f}rh;d vkdM+ksa esa D;k vUrj gSA

What is the difference between the Primary and  Secondary data. (3)

iz03- ,d vPNh lkj.kh ds eq[; Hkkx dkSu ls gksrs gSA

Write down the main parts of a good table. (3)

iz04- fn, x, vk¡dM+ksa ls ,d o`r fp= cukb,A o’kZ 2000-2001 esa Hkkjr esa oLrqvksa ds lewg

dk vk;kr izfr’kr%&

Make a pie Diagram from the given data Percentage distribution of Imports of India
by a few Commodity groups (2000-01)
o`r fp= cukb,A

Øekad oLrq lewg izfr’kr

¼1½ [kk| vkSj lgk;d inkFkZ 6.1
¼2½ bZU/ku 17.6
¼3½ [kkn 2.3
¼4½ dkxt@fufeZr cksMZ 1.1

rFkk U;wtfizUV

¼5½ iwathxr oLrq,¡ 16.6
¼6½ vU; Fkksd ensa 35.9
¼7½ vU; 20.4

Economics
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Commodity Groups Percent

(1)           (2) (3)

A Food and allied Products 6.1
B Fuel 17.6
C Fertilizers 2.3
D Paper/board mancufactured and newsprint 1.1
E Captial goods 16.6
F Other bulk Items 35.9
G Others 20.4

Total 100.0 (3)

iz05- vFkZ’kkL= es lkaf[;dh dk D;k egRo gSA

Write down the Importance of statistics in Economics  (3)

iz06- izR;{k fof/k }kjk lekUrj ek/; fudkfy, %&

Calculate the arithmetic mean by direct  method

x  f
1   5
2 15
3 25
4 35
5 10
6   5
7   3
8   2 (4)

iz07 fuEu vko`fr forj.k ls Q1 vkSj Q3 fudkfy,A

oxZ vUrjky       0-10 10-20 20-30 30-40 40-50 50-60
vko`fr   23   64   115    51    30    17

Calculate the quartiles Q1 and Q3 for the following frequency distribution.
Class Interval 0-10 10-20 20-30 30-40 40-50 50-60

  23   64   115    51    30    17 (4)

iz08- vifdj.k ls D;k vfHkizk; gS vifdj.k dh fofHkUu fof/k;ksa dk foLrkj ls o.kZu djksA

What do you mean by the Dispersion. Write down the various methods of Dispersion
in detail.      (4)

iz09- fuEu vkadM+ksa ls ogqyd Kkr dhft,A

Calculate the mode from the given data

Economics
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height (In feet) No of Students
3.0 - 3.5 12
3.5 - 4.0 37
4.0 - 4.5 79
4.5 - 5.0 152
5.0 - 5.5 65
5.5 - 6.0 7

OR

ek/; ls ek/; fopyu fudkfy,A

Calculate the mean deviation from the mean
Classes Frequency
20-40 3
40-80 6
80-100 20
100-120 12
120-140 9 (4)

iz010- X vkSj Y dk ewY; fn;k x;k gSA

The Values of X and Y are given as
X 25 45 35 40 15 19 35 42
Y 55 60 30 35 40 42 36 48

Calculate the rank Correlation between X and Y
X vkSj Y esa Js.kh lglEcU/k fudkfy,A (6)

iz011- lwpdkad cukrs le; fdu&fdu lko/kkfu;ksa dks /;ku esa j[kuk pkfg, foLrkj ls O;k[;k dhft,A

What Precaution should be taken while Preparing Index  number. Write in detail.
(6)

(OR)
laf{kIr uksV fyf[k, %&

(a) lax.kuk rFkk funZ’ku fof/k es D;k varj gSA

(b) izeki fopyu ls D;k vfHkizk; gSA blds xq.k vkSj nks’k fy[kksA

Write down short notes :
(a) What is the difference between the causes and sampling method.
(b) What do you mean by the standard deviation write down the merits and

demerits.                       (3×2=6)

iz012- Construct a consumer price index from given data.
miHkksDrk ewY; lwpdkad cukb,A

Economics
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enenenenen HkkjHkkjHkkjHkkjHkkj% esa esa esa esa esa vk/kkj vof/kvk/kkj vof/kvk/kkj vof/kvk/kkj vof/kvk/kkj vof/k orZeku vof/korZeku vof/korZeku vof/korZeku vof/korZeku vof/k

Item Weight in% Base Period  Current Period
Price (Rs.)  Price(B)

Food [kk| ¼vkgkj½[kk| ¼vkgkj½[kk| ¼vkgkj½[kk| ¼vkgkj½[kk| ¼vkgkj½ 35 150 145
Fuel bZ/kubZ/kubZ/kubZ/kubZ/ku 10 25 23
Cloth diM+sdiM+sdiM+sdiM+sdiM+s 20 75 65
Rent fdjk;kfdjk;kfdjk;kfdjk;kfdjk;k 15 30 30
Misc. lfEefJrlfEefJrlfEefJrlfEefJrlfEefJr 20 40 45 (6)

PART-B

iz0iz0iz0iz0iz013----- ¼¼¼¼¼i½½½½½ izkFkfed {ks= ls D;k vfHkizk; gSAizkFkfed {ks= ls D;k vfHkizk; gSAizkFkfed {ks= ls D;k vfHkizk; gSAizkFkfed {ks= ls D;k vfHkizk; gSAizkFkfed {ks= ls D;k vfHkizk; gSA

What is meant by Primary Sector.

          ¼¼¼¼¼ii½½½½½ vkfFkZd fu;kstu ls D;k vfHkizk; gSaAvkfFkZd fu;kstu ls D;k vfHkizk; gSaAvkfFkZd fu;kstu ls D;k vfHkizk; gSaAvkfFkZd fu;kstu ls D;k vfHkizk; gSaAvkfFkZd fu;kstu ls D;k vfHkizk; gSaA

What do you mean by Economic Planning ?

¼¼¼¼¼iii½½½½½ /kkj.kh; fodkl ls D;k vfHkzik; gSA/kkj.kh; fodkl ls D;k vfHkzik; gSA/kkj.kh; fodkl ls D;k vfHkzik; gSA/kkj.kh; fodkl ls D;k vfHkzik; gSA/kkj.kh; fodkl ls D;k vfHkzik; gSA

What do you mean by Sustainable development.

¼¼¼¼¼iv½½½½½ xjhch ls D;k vfHkizk; gSAxjhch ls D;k vfHkizk; gSAxjhch ls D;k vfHkizk; gSAxjhch ls D;k vfHkizk; gSAxjhch ls D;k vfHkizk; gSA

What do you mean by poverty ? 1 x 4 = 4

iz014- xjhch js[kk ls D;k vfHkizk; gS\ Hkkjr esa xjhch ds fdUgha ikap dkj.kksa dk o.kZu djksA

What do you mean by poverty line? Explain the five causes of poverty in India.      (3)

iz015- tSfod d`f’k ls D;k vfHkizk; gSA ykHk vkSj gkfu;ka dk o.kZu djksA

What is organic Farming ? What are the advantages and disadvantages of organic
farming.                   (3)

iz016- ÅtkZ ls D;k vfHkizk; gSA ÅtkZ ds ijEijkxr vkSj xSj&ijEijkxr lzksrksa dk o.kZu djksA

What is meant by energy. Write down the conventional and non-conventional resources
of energy.       (3)

iz017- ikfdLrkuh vFkZO;OLFkk ds ckjs esa ,d laf{kIr fVIi.kh fy[kksA

Write a short note on economic condition of Pakistan (3)

iz018- LorU=rk ds le; Hkkjrh; vFkZO;oLFkk dh D;k fLFkfr Fkh\

Discuss the state of Indian economy on the eve of Independence. (4)

iz019. 1991 dh ubZ vkS|ksfxd uhfr dh fo’ks”krk,a fy[kksA

Write down the features of 1991 new Industrial policy (4)

Economics
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iz020- ubZ vkfFkZd uhfr ds eq[; ?kVdksa dk o.kZu djksA

Discribe the main components of the new economic policy.
(OR½

Hkkjr ds eq[; fu;kZrksa dk o.kZu djksA

Describe the main exports of India. (4)

iz021- f’k{kk ds {ks= esa Hkkjr vkSj phu dh rqyuk dhft,A

Make and educational wise comparison between India and China. (4)

iz022- Hkkjr esa csjkstxkjh leL;k ds D;k dkj.k gSaA bls nwj djus ds mi;qDr lq>ko nhft,A

What are the causes of Unemployment in India. Suggest suitable measures to solve the
problem of unemployment.                  (6)

iz023. vkfFkZd lq/kkjksa ls D;k vfHkizk; gS \ Hkkjr esa vkfFkZd lq/kkjksa dh D;ksa vko’;drk iM+h \

What is meant by economic reforms ? Explain the need for economic reforms in
India. (6)

iz024- LorU=rk ds ckn Hkkjr esa f’k{kk {ks= esa gq, fodkl ij izdk’k Mkfy,A

Explain educational development of India since independence.
(OR)

 /kkj.kh; fodkl dk D;k egRo gS vkSj bls dSls ekik tk ldrk gSA

What is the significance of sustainable development. How is it measured ? (6)

Economics

15) eaxksy dkSu Fks \ eaxksyksa ds fy;s O;kikj D;ksa bruk egRoiw.kZ Fkk \

Who were Mangols? Why trade was important to them. 3

iz02- izkFkfed rFkk f}rh;d vkdM+ksa esa D;k vUrj gSA

What is the difference between the Primary and  Secondary data. (3)
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POLITICAL SCIENCE

le; % rhu ?k.Vs dqy vad % 100

lkekU; funsZ’k %

lHkh ç’u vfuok;Z gSaA

2 vad okys ç’uksa dk mÙkj 40 ls 60 ‘kCnksa esa]

3 vad okys ç’uksa dk mÙkj 60 ls 75 ‘kCnksa esa]

4 vad okys ç’uksa dk mÙkj 75 ls 100 ‘kCnksa esa]

5 vad okys ç’uksa dk mÙkj 125 ls 150 ‘kCnksa esa rFkk

6 vad okys ç’uksa dk mÙkj 200 ls 250 ‘kCnksa esa nsaA

General Instructions:-
1) All questions are compulsory.
2) Answer to 2 marks question should be between 40-60 words.
3) Answer to 3 marks question should be between 60-75 words.
4) Answer to 4 marks question should be between 75-100 words.
5) Answer to 5 marks question should be between 125-150 words.
6) Answer to 6 marks question should be between 200-250 words.

1½ lafo/kku dk D;k vFkZ gS \

What is the meaning of Constitution?

2½ Hkkjrh; lafo/kku fdlds }kjk cuk;k x;k rFkk dc ykxw fd;k x;k \

Who made the Indian Constitution and when it was implemented?

3½ O;Ld erkf/kdkj ls vkidk D;k vfHkçk; gS \

What do you mean by Adult Franchise?

4½ eq[;eU=h dh fu;qfDr dSls dh tkrh gS \

How is the Chief Minister of a State appointed?

5½ ^jktuhfr* dk D;k vFkZ gS \

What is meant by ‘Politics’.

6½ ekuokf/kdkj dk D;k vFkZ gS \

What do you mean by Human Rights?

7½ /keZ fujis{krk dk vFkZ Li”V dhft,A

Discuss the meaning of Secularism.

8½ fo’o’kkfUr dSls lEHko gks ldrh gS \

How global peace is possible? Explain.

Political Science
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9½ fodkl ls vki D;k le>rs gSa \

What do you mean by development?

10½ fodkl ds ekxZ esa vkus okyh nks ck/kkvksa dk o.kZu djsaA 2 x 10 = 20
Explain any two hindrances in the way of development.

11½ jkT; fo/kku lHkk dh ‘kfDr;ksa dk o.kZu djsaA

Describe the powers of State Legislative Assembly.

12½ loksZPp U;k;ky; ds çkjfEHkd {ks=kf/kdkj dk o.kZu djsaA

Explain the original jurisdiction of Supreme Court.

13½ U;k;ikfydk dh LorU=rk ls vkidk D;k vfHkçk; gS \ D;k Hkkjr esa U;k;ikfydk

LorU= gS \

What do you mean by Independence of Judiciary? Is judiciary independent in India?

14½ Hkkjrh; lafo/kku esa la’kks/ku ds fy, lk/kkj.k cgqer dh fo/kh fy[ksaA

Describe the procedure of simple majority regarding amendment in the Indian
Constitution.

15½ Hkkjrh; lafo/kku esa fn, x, vk/kkjHkwr fl)kUrksa dk o.kZu dhft,A

Describe the basic features of the Indian Constitution.

16½ jktuhfrd lekurk dks lqfuf’pr cukus ds fy, vko’;d ‘krsZa fy[kksA

What are the conditions essential to achieve Political equality?

17½ lekurk ls vkidk D;k vfHkçk; gS \

What do you mean by equality?

18½ lkekftd U;k; dks fdl çdkj çkIr fd;k tk ldrk gS \

How social justice can be achieved?

19½ jk”Vªh; vkRefu.kZ; ds fl)kUr ds xq.kksa dk o.kZu djsaA 3 x 9 = 27
Explain the merits of the nation’s theory of self determination.

20½ Hkkjrh; lafo/kku dh /kkjk 14 ls 18 esa fn, x, ekSfyd vf/kdkjksa dk o.kZu dhft,A

Describe the Fundamental Rights given in the Indian Constitution under Articles 14 to
18.

vFkok

Hkkjrh; lafo/kku esa fn, x, fdUgha pkj ekSfyd drZO;ksa dk o.kZu dhft,A

Describe any four Fundamental Duties given in the Indian Constitutional.

Political Science
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21½ pquko vk;ksx ds dk;ksZa dk o.kZu dhft,A

Describe the functions of Election Commission.

22½ D;k Hkkjrh; lafo/kku la?kkRed gS \ O;k[;k dhft,A

Is Indian Constitution Federal? Explain.

23½ jktuhfrd fl)kUr dk v/;;u fdl çdkj mi;ksxh gS \ 4 x 4 = 16
What is the importance of Political Theory.

24½ ç/kkueU=h dh fu;qfDr dSls gksrh gS \ ‘kfDr;ksa rFkk fLFkfr dh O;k[;k djsaA

How is the Prime Minister appointed? Describe his powers and position.

25½ yksd lHkk dh jpuk rFkk dk;ksZa dk o.kZu dhft,A

Describe the composition and functions of Lok Sabha.
vFkok

yksdlHkk rFkk jkT; lHkk esa lEcU/kksa dh O;k[;k djsaA

Describe the relation between Lok Sabha and Rajya Sabha.

26½ iapk;rh jkt ç.kkyh ds eq[; nks”k dkSu&dkSu ls gSa \

What are the main defects of the Panchayati Raj System?

27½ LorU=rk dh lqj{kk ds fy, dkSu&dkSu ls j{kk dopksa dh vko’;drk gksrh gS \

What are the various safeguards of Liberty.

28½ D;k Hkkjr ,d /keZ fujis{k jkT; gS \ O;k[;k dhft,A 5 x 5 = 25
Is India a Secular state? Explain.

29½ jktuhfrd rFkk vkfFkZd vf/kdkjksa dh O;k[;k dhft,A

Describe the Political and Economic rights.
vFkok

vf/kdkjksa ds fofHkUu :iksa dk o.kZu djsaA

Describe the various forms of rights.

30½ ukxfjdrk dk D;k vFkZ gS \ ukxfjdrk dSls çkIr dh tkrh gS rFkk lekIr dh tkrh

gS \     6 x 2 = 12
What is meant by citizenship? How the citizenship is acquired and lost?

Political Science
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GEOGRAPHY
Time : 3hrs.     M.M.70

All Questions are Compulsory
lHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaAlHkh iz’u vfuok;Z gSaA

Q1. On the out line map of world  locate the following :-
fn;s x;s fo’o ds ekufp= ij fuEufyf[kr n’kkZvksAfn;s x;s fo’o ds ekufp= ij fuEufyf[kr n’kkZvksAfn;s x;s fo’o ds ekufp= ij fuEufyf[kr n’kkZvksAfn;s x;s fo’o ds ekufp= ij fuEufyf[kr n’kkZvksAfn;s x;s fo’o ds ekufp= ij fuEufyf[kr n’kkZvksA

(1) Kalahari Desert.
dkykgkjh e:LFky

(2) Andes Mountains
,.Mht ioZr Ja`[kyk,.Mht ioZr Ja`[kyk,.Mht ioZr Ja`[kyk,.Mht ioZr Ja`[kyk,.Mht ioZr Ja`[kyk

On the outline map of India locate the following :-
fn;s x;s Hkkjr ds ekufp= ij fuEufyf[kr n’kkZvksfn;s x;s Hkkjr ds ekufp= ij fuEufyf[kr n’kkZvksfn;s x;s Hkkjr ds ekufp= ij fuEufyf[kr n’kkZvksfn;s x;s Hkkjr ds ekufp= ij fuEufyf[kr n’kkZvksfn;s x;s Hkkjr ds ekufp= ij fuEufyf[kr n’kkZvks

(1) One Black soil area.
dkyh feêh  dk ,d {ks=dkyh feêh  dk ,d {ks=dkyh feêh  dk ,d {ks=dkyh feêh  dk ,d {ks=dkyh feêh  dk ,d {ks=

¼¼¼¼¼2½½½½½ MQyk dh igkfM+;k¡MQyk dh igkfM+;k¡MQyk dh igkfM+;k¡MQyk dh igkfM+;k¡MQyk dh igkfM+;k¡

Dafla hills
¼¼¼¼¼3½½½½½ ywuh unhywuh unhywuh unhywuh unhywuh unh

Luni River (2+3=5)

Q2. What are Rocks? Name their types? Describe four major characteristics of any two?  (5)
pV~Vkus D;k gksrh gSa\ muds izdkjksa ds uke\ fdUgha nks izdkjksa dh pkj eq[; fo’kspV~Vkus D;k gksrh gSa\ muds izdkjksa ds uke\ fdUgha nks izdkjksa dh pkj eq[; fo’kspV~Vkus D;k gksrh gSa\ muds izdkjksa ds uke\ fdUgha nks izdkjksa dh pkj eq[; fo’kspV~Vkus D;k gksrh gSa\ muds izdkjksa ds uke\ fdUgha nks izdkjksa dh pkj eq[; fo’kspV~Vkus D;k gksrh gSa\ muds izdkjksa ds uke\ fdUgha nks izdkjksa dh pkj eq[; fo’ks s’krkvksa dk o.kZurkvksa dk o.kZurkvksa dk o.kZurkvksa dk o.kZurkvksa dk o.kZu

djsaAdjsaAdjsaAdjsaAdjsaA

Q3. Divide India on the basis of  Relief? Give a detailed account of any one division?       (5)
/kjkry ds vk/kkj ij Hkkjr dks foHkkftr djsa\ fdlh ,d Hkkx ds ckjs esa foLrkj ls o.kZu djsa\/kjkry ds vk/kkj ij Hkkjr dks foHkkftr djsa\ fdlh ,d Hkkx ds ckjs esa foLrkj ls o.kZu djsa\/kjkry ds vk/kkj ij Hkkjr dks foHkkftr djsa\ fdlh ,d Hkkx ds ckjs esa foLrkj ls o.kZu djsa\/kjkry ds vk/kkj ij Hkkjr dks foHkkftr djsa\ fdlh ,d Hkkx ds ckjs esa foLrkj ls o.kZu djsa\/kjkry ds vk/kkj ij Hkkjr dks foHkkftr djsa\ fdlh ,d Hkkx ds ckjs esa foLrkj ls o.kZu djsa\

Q4. What is Precipitation? Briefly explain its  forms and types?       (5)
o`fo`fo`fo`fo`f’V D;k gS\  o`fV D;k gS\  o`fV D;k gS\  o`fV D;k gS\  o`fV D;k gS\  o`f’V ds :i vkSj izdkj ds ckjs esa foLrkj ls o.kZu djsa \V ds :i vkSj izdkj ds ckjs esa foLrkj ls o.kZu djsa \V ds :i vkSj izdkj ds ckjs esa foLrkj ls o.kZu djsa \V ds :i vkSj izdkj ds ckjs esa foLrkj ls o.kZu djsa \V ds :i vkSj izdkj ds ckjs esa foLrkj ls o.kZu djsa \

Q5. Describe the Wagner’s theory of continental drift?       (4)
osxuj ds egk}hih; foLFkkiu fl)kUr dk o.kZu dhft,\osxuj ds egk}hih; foLFkkiu fl)kUr dk o.kZu dhft,\osxuj ds egk}hih; foLFkkiu fl)kUr dk o.kZu dhft,\osxuj ds egk}hih; foLFkkiu fl)kUr dk o.kZu dhft,\osxuj ds egk}hih; foLFkkiu fl)kUr dk o.kZu dhft,\

Q6. Describe the types of soils  found in India ? (4)
Hkkjr esa ikbZ tkus okyh fefê;ksa dk foLrkj ls o.kZu djsaAHkkjr esa ikbZ tkus okyh fefê;ksa dk foLrkj ls o.kZu djsaAHkkjr esa ikbZ tkus okyh fefê;ksa dk foLrkj ls o.kZu djsaAHkkjr esa ikbZ tkus okyh fefê;ksa dk foLrkj ls o.kZu djsaAHkkjr esa ikbZ tkus okyh fefê;ksa dk foLrkj ls o.kZu djsaA

Q7. Describe the flood prone areas of  India and measures for safety from floods?
Hkkjr ds ck<+ izo.k {ks=ksa dk o.kZu djsa vkSj ck<+ ls cpus ds mik; fy[ksa\Hkkjr ds ck<+ izo.k {ks=ksa dk o.kZu djsa vkSj ck<+ ls cpus ds mik; fy[ksa\Hkkjr ds ck<+ izo.k {ks=ksa dk o.kZu djsa vkSj ck<+ ls cpus ds mik; fy[ksa\Hkkjr ds ck<+ izo.k {ks=ksa dk o.kZu djsa vkSj ck<+ ls cpus ds mik; fy[ksa\Hkkjr ds ck<+ izo.k {ks=ksa dk o.kZu djsa vkSj ck<+ ls cpus ds mik; fy[ksa\ (4)

Q8. Describe the sources of Environmental pollution?
i;kZoj.k ds iznwi;kZoj.k ds iznwi;kZoj.k ds iznwi;kZoj.k ds iznwi;kZoj.k ds iznw’k.k ds L=ksrksa dk o.kZu dhft,\.k ds L=ksrksa dk o.kZu dhft,\.k ds L=ksrksa dk o.kZu dhft,\.k ds L=ksrksa dk o.kZu dhft,\.k ds L=ksrksa dk o.kZu dhft,\ (4)
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Q9. Explain the horizontal distribution of Pressure belts on the Earth. (4)
i`Foh ij ok;qnkc isfV;ksa ds {kSfrt forj.k dk o.kZu djsaAi`Foh ij ok;qnkc isfV;ksa ds {kSfrt forj.k dk o.kZu djsaAi`Foh ij ok;qnkc isfV;ksa ds {kSfrt forj.k dk o.kZu djsaAi`Foh ij ok;qnkc isfV;ksa ds {kSfrt forj.k dk o.kZu djsaAi`Foh ij ok;qnkc isfV;ksa ds {kSfrt forj.k dk o.kZu djsaA

Q10. What is Geography?
Hkwxksy ls D;k vfHkizk; gS\Hkwxksy ls D;k vfHkizk; gS\Hkwxksy ls D;k vfHkizk; gS\Hkwxksy ls D;k vfHkizk; gS\Hkwxksy ls D;k vfHkizk; gS\ (3)

Q11. What light Earthquake waves throw on the structure of the Earth?
HkwdEih; rjaxs i`Foh dh vkUrfjd cukoV ds ckjs esa D;k crkrh gSa\HkwdEih; rjaxs i`Foh dh vkUrfjd cukoV ds ckjs esa D;k crkrh gSa\HkwdEih; rjaxs i`Foh dh vkUrfjd cukoV ds ckjs esa D;k crkrh gSa\HkwdEih; rjaxs i`Foh dh vkUrfjd cukoV ds ckjs esa D;k crkrh gSa\HkwdEih; rjaxs i`Foh dh vkUrfjd cukoV ds ckjs esa D;k crkrh gSa\ (3)

Q12. What are plateaus? Discuss their types on the basis of site.
iBkj fdls dgrs gSa\ fLFkfr ds vk/kkj ij blds izdkjksa dk fooj.k djsaAiBkj fdls dgrs gSa\ fLFkfr ds vk/kkj ij blds izdkjksa dk fooj.k djsaAiBkj fdls dgrs gSa\ fLFkfr ds vk/kkj ij blds izdkjksa dk fooj.k djsaAiBkj fdls dgrs gSa\ fLFkfr ds vk/kkj ij blds izdkjksa dk fooj.k djsaAiBkj fdls dgrs gSa\ fLFkfr ds vk/kkj ij blds izdkjksa dk fooj.k djsaA (3)

Q13. Name two Erosional and two depositional features of wind.
iou ds nks vijnu tfur vkSj nks fu{ksi.k tfur LFkykd`fr;ksa ds uke fy[kksAiou ds nks vijnu tfur vkSj nks fu{ksi.k tfur LFkykd`fr;ksa ds uke fy[kksAiou ds nks vijnu tfur vkSj nks fu{ksi.k tfur LFkykd`fr;ksa ds uke fy[kksAiou ds nks vijnu tfur vkSj nks fu{ksi.k tfur LFkykd`fr;ksa ds uke fy[kksAiou ds nks vijnu tfur vkSj nks fu{ksi.k tfur LFkykd`fr;ksa ds uke fy[kksA (3)

Q14. Answer the following briefly
(a) Normal  Lapse Rate (b) Green House Effect.
fuEufyf[kr dk laf{kIr fooj.k nhft,AfuEufyf[kr dk laf{kIr fooj.k nhft,AfuEufyf[kr dk laf{kIr fooj.k nhft,AfuEufyf[kr dk laf{kIr fooj.k nhft,AfuEufyf[kr dk laf{kIr fooj.k nhft,A

¼d½ lkekU; ál nj ¼[k½ dk¡p ?kj izHkkoA¼d½ lkekU; ál nj ¼[k½ dk¡p ?kj izHkkoA¼d½ lkekU; ál nj ¼[k½ dk¡p ?kj izHkkoA¼d½ lkekU; ál nj ¼[k½ dk¡p ?kj izHkkoA¼d½ lkekU; ál nj ¼[k½ dk¡p ?kj izHkkoA (3)

Q15. Describe the factors controlling the temperature of a place?
fdlh LFkku dk rkieku fdu dkjdksa ij fuHkZj djrk gS\ o.kZu djsaAfdlh LFkku dk rkieku fdu dkjdksa ij fuHkZj djrk gS\ o.kZu djsaAfdlh LFkku dk rkieku fdu dkjdksa ij fuHkZj djrk gS\ o.kZu djsaAfdlh LFkku dk rkieku fdu dkjdksa ij fuHkZj djrk gS\ o.kZu djsaAfdlh LFkku dk rkieku fdu dkjdksa ij fuHkZj djrk gS\ o.kZu djsaA (3)

Q16. Describe the factors controlling salinity in oceans?
leqnzh yo.krk dks izHkkfor djus okys dkjdksa dk o.kZu djsa\leqnzh yo.krk dks izHkkfor djus okys dkjdksa dk o.kZu djsa\leqnzh yo.krk dks izHkkfor djus okys dkjdksa dk o.kZu djsa\leqnzh yo.krk dks izHkkfor djus okys dkjdksa dk o.kZu djsa\leqnzh yo.krk dks izHkkfor djus okys dkjdksa dk o.kZu djsa\ (3)

Q17. Differentiate between Himalayan  Rivers and  Peninsular Rivers?
vUrj LivUrj LivUrj LivUrj LivUrj Li’V djsa fgeky; dh ufn;k¡ vkSj izk;}hi dh ufn;k¡ \V djsa fgeky; dh ufn;k¡ vkSj izk;}hi dh ufn;k¡ \V djsa fgeky; dh ufn;k¡ vkSj izk;}hi dh ufn;k¡ \V djsa fgeky; dh ufn;k¡ vkSj izk;}hi dh ufn;k¡ \V djsa fgeky; dh ufn;k¡ vkSj izk;}hi dh ufn;k¡ \ (3)

Q18. What is burst of  Monsoons?
ekulwu foLQksV fdls dgrs gSa\ekulwu foLQksV fdls dgrs gSa\ekulwu foLQksV fdls dgrs gSa\ekulwu foLQksV fdls dgrs gSa\ekulwu foLQksV fdls dgrs gSa\ (3)

Q19. Why forests in India have been degraded?
Hkkjr esa ouksa dk âkl D;ksa gqvk gS\Hkkjr esa ouksa dk âkl D;ksa gqvk gS\Hkkjr esa ouksa dk âkl D;ksa gqvk gS\Hkkjr esa ouksa dk âkl D;ksa gqvk gS\Hkkjr esa ouksa dk âkl D;ksa gqvk gS\ (3)
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PSYCHOLOGY (THEORY)

TIME : 3 HOURS M.M. 70

ijh{kkFkhZ ;FkklaHko vius ‘kCnksa esa gh mÙkj nsaA

çR;sd ç’u ds vad mlds lkeus fn;s x, gSaA

Candidates are required to give their answers in their own words as far as possible.
Marks allotted to each question are indicated against it.

uksV % fdUgha ik¡p ç’uksa ds mÙkj nhft,A mÙkj laf{kIr ,oa rdZlaxr gksus pkfg;sA

Note : Attempt any five questions. Answers should be brief and to the point.

1) euksfoKku dh çÑfr ,oa {ks=ksa dh O;k[;k djsaA

Describe nature and scope of psychology ? 6,8

2) ¼d½ euksoSKkfud vuqla/kku ds y{;ksa dh O;k[;k djsa \

(a) What are the goals of psychological research ?
¼[k½ fuEufyf[kr vkadM+ksa ds e/;eku] e/;kad o cgqykad Kkr djsa \

Scores Frequency
70 - 74 2
65 - 69 2
60 - 64 2
55 - 59 4
50 - 54 5
45 - 49 9
40 - 44 6
35 - 39 3
30 - 34 4
25 - 29 2
20 - 24 1

N   = 40
(b) Calculate mean, median and mode of the following scores :-

Scores Frequency
70 - 74 2
65 - 69 2
60 - 64 2
55 - 59 4
50 - 54 5
45 - 49 9
40 - 44 6
35 - 39 3
30 - 34 4
25 - 29 2
20 - 24 1

N   = 40 (5, 3, 3, 3)

Psychology (Theory)
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3) O;fDr ds O;ogkj o vuqHko esa raf=dk ra= o var%lzkoh xzafFk;ksa dh D;k Hkwfedk gS]

O;k[;k djsa \

Describe the role of nervous system and endoctrine system in behaviour and
experience of a person ?       7,7

4) fodklkRed voLFkk;sa dkSu lh gSa] çR;sd voLFkk dh eq[; fo’ks”krk;sa D;k gSaA

What are the various developmental stages? Give the main characteristics of each
stage.        14

5) vo/kku dks ifjHkkf”kr djsa rFkk p;fur vo/kku ,oa la?k`r vo/kku dh O;k[;k djsa \

Define attention and describe selective and sustained attention? 6, 8

6) vf/kxe dks ifjHkkf”kr djsaA vf/kxe ‘kSfy;ksa ij çdk’k Mkyrs gq;s] vf/kxe dks çHkkfor

djus okys dkjdksa dh O;k[;k djsaA vf/kxe ds fl)kUrksa dk ç;ksx thou dh csgrjh ds

fy;s fdl çdkj fd;k tk ldrk gS \

Define learning. With emphasis on learning styles, explain the factors affecting
learning. How the principles of learning can be applied to improve life?  3, 6, 5

7) foLe`fr dh çÑfr vkSj dkj.kksa dh O;k[;k djsaA foLe`fr dks fdl çdkj de fd;k tk

ldrk gS \

Explain nature and causes of forgetting. How forgetting can be discouraged?       7, 7

8) fdUgha nks ij laf{kIr fVIi.kh djsa %

¼d½ ijlLÑrhdj.k

¼[k½ eSLyks dh vko’;drkvksa dk vuqØe

¼x½ çk;ksfxd fof/k

¼?k½ leL;k lek/kku

Write short notes on any two of the following :-
a) Acculturation
b) Maslow’s hierarchy of needs
c) Experimental Method
d) Problem solving.  7, 7

Psychology (Theory)
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SOCIOLOGY

Time Allotted : 3 HOURS M.M. 100

uksV
Note :-

1. lHkh ç’u vfuok;Z gSaA
All the questions are compulsory.

2. çR;sd ç’u ds vad mlds lkeus n’kkZ;s x;s gSaA
Marks allotted to each question are indicated against it.

3. ijh{kkFkhZ tgka rd laHko gks vius ‘kCnksa esa mÙkj nsaA
Candidates are to answer in their own words as far as possible.

4. 1 vad ds ç’u dk mÙkj 10 ‘kCnksa esa nsaA
Answer to 1 mark question be given in 10 words.

5. 2 vad ds ç’u dk mÙkj 25 ‘kCnksa esa nsaA
Answer to 2 marks question be given in 25 words.

6. 3 vad ds ç’u dk mÙkj 40 ‘kCnksa esa nsaA
Answer to 3 marks question be given in 40 words.

7. 4 vad ds ç’u dk mÙkj 60 ‘kCnksa esa nsaA
Answer to 4 marks question be given in 60 words.

8. 5 vad ds ç’u dk mÙkj 80 ‘kCnksa esa nsaA
Answer to 5  marks question be given in 80 words.

1) lekt D;k gS \
What is society? 1

2) lekt’kkL= dk tud fdls ekuk tkrk gS \
Who is called the father of sociology?  1

3) lekt’kkL= dk v/;;u D;ksa vko’;d gS \
Why  the study of sociology is necessary? 2

4) leUo;kRed lEçnk; ds çeq[k fopkjdksa ds uke crk;saA
Write the main thinkers of Synthetic School. 2

5) lekt’kkL= vkSj vFkZ’kkL= esa rhu vUrj fyf[k,A
Write three differences between Sociology and Economics. 3

Sociology
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6) çkFkfed lewg D;k gS \
What is Primary Group? 2

7) vftZr ifjfLFkfr ds dksbZ nks vk/kkj crkb;sA
Mention two basis of achieved status. 2

8) lkekftd LÙkjhdj.k dh rhu fo’ks”krk,a fyf[k,A
Write three advantages of social stratification. 3

9) lkekftd fu;U=.k ds rhu egRo fyf[k,A
Write three importance of Social control.  3

10) ifjokj dh çeq[k fo’ks”krkvksa dks fyf[k,A
Write main characteristics of family. 5

11) vuqykse fookg ds ifj.kke crykb;sA
Explain the results of Hypergamy. 2

12) vkSipkfjd f’k{kk D;k gS \
What is Formal Education? 2

13) lekthdj.k ds çeq[k vfHkdj.kksa ds uke crkb;sA
Name the main agencies of Socialization. 2

14) O;fDrRo fuekZ.k esa laLÑfr ds ;ksxnku dks crkb;sA
Explain the role of culture is Personality formation. 2

15) laLÑfr ds çeq[k çdk;ksZa ;k fo’ks”krkvksa dk o.kZu djsaA
Explain the main functions or characteristics of culture.  4

16) lkekftd losZ{k.k ls D;k vfHkçk; gS \
What do you mean by social survey? 2

17) fujh{k.k dh dksbZ rhu çeq[k fo’ks”krk,a fyf[k,A
Write three main characteristics of observation. 3

18) lk{kkRdkj çfof/k D;k gS \ bldh fo’ks”krkvksa dk mYys[k dhft,A
What is interview technique? Explain its characteristics. 5

19) lkekftd lajpuk ds çeq[k rRoksa ds uke crkb,A
Name the main elements of social structure. 2

20) e/;e oxZ fdls dgrs gSa \
Which is called middle class? 2

21) lkekftd Lrjhdj.k dh nks fo’ks”krk,a crkb;sA
Write two characteristics of social stratification. 2

Sociology
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22) la?k”kZ ls vki D;k le>rs gSa \
What do you understand by conflict? 2

23) çfrLi/kkZ vkSj la?k”kZ esa nks vUrj crkb;sA
Write two differences between competition  & conflict. 2

24) lkekftd ifjorZu ls vki D;k le>rs gSa \ lkekftd ifjorZu esa eq[; :i ls dkSu&2
ls dkjd mÙkjnk;h gksrs gSa \ la{ksi esa çR;sd dkjd ij çdk’k Mkfy,A
What do you understand by social change? What factors are mainly responsible for
social change? Throw light in brief on every factor.          5

25) lÙkk ds rhu çeq[k dk;ksZa dk o.kZu dhft,A
Explain three important functions of Authority. 3

26) xkao ls vki D;k le>rs gSa \
What do you understand by village? 2

27) i;kZoj.k ls vki D;k le>rs gSa \
What do you understand by Environment? 2

28) ^Xykscy okfeZax* D;k gS \ Xykscy okfeZax ds ifj.kke fyf[k,A
What is global warming? Write the effects of global warming. 3

29) ^i;kZoj.kh; çnw”k.k* ij ,d fucU/k fyf[k,A
Write an essay on Environmental Pollution. 5

30) nq[khZe }kjk lekt esa Je foHkktu dh vo/kkj.kk dks li”V dhft,A
Explain the concept of division of labour in Society by Emile Durkheim.  4

31) vkn’kZ ç#i ls vki D;k le>rs gSa \
What do you understand by Ideal Trait ? 2

32) dfj’ekbZ lÙkk vkSj ijEijkxr lÙkk esa vUrj li”V dhft,A
Explain the difference between charismatic Authority & Traditional authority.  4

33) ukSdj’kkgh D;k gS \ ukSdj’kkgh dh çeq[k fo’ks”krkvksa ij çdk’k MkysaA
What is Bureaucracy? Explain the features of Bureaucracy. 4

34) ?kqfj;s ds tkfr vkSj jktuhfr ds fopkjksa dk o.kZu djsaA
Explain Ghurye’s Caste and Politics. 4

35) ,e-,u-Jhfuokl dh n`f”V esa Hkkjrh; xkao ij ,d fVIi.kh dhft,A
Write a note on Indian village in the view of M.N. Shriniwas.  4

36) ijEijk ls vki D;k le>rs gSa \

What do you understand by Tradition.  2

Sociology
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laLd`rlaLd`rlaLd`rlaLd`rlaLd`r
le; gksjk=;e~ iw.kkZd% “kre~

ijh{kk funsZ”kk % 1½ vfLeu~ iz”u i=s pRokj% [k.Mk% lfUrA
2½ losZ iz”uk% vfuok;kZ% lfUrA

[k.M & ^d* ¼vifBr vocks/kue~½

v/kksfyf[kra x|ka”ka ifBRok iz”ukukeqÙkjkf.k fy[kr &
xhrk loZ”kkL=e;h fo|rsA Hkxork osnO;klsu losZ’kka iwoZofrZuka /keZxzUFkkuka vkyksMue~
d`Rok xhrk iz.khrk vklhr~A vr% ,o losZ’kka /keZxzUFkkuka mnkÙkk% fl)kUrk% vL;ke~
,d=ksiyH;UrsA vr% ,o dF;rs& xhrk lqxhrk dÙkZO;k fdeU;S% “kkL=foLrjS%A vfLeu~
xhrk “kkL=s ekuo ek=L; vf/kdkj% vfLrA o.kZL;] tkR;k%] lEiznk;L; v= fopkjks u
vfLrA ,rfLeu~ xzUFks deZ;ksxL;] Kku;ksxL;] HkfDr;ksxL; p f=os.kh ogfrA xhrk
fujk”kkuka eufl vk”kklapkja djksfrA ,’kk% iyk;uokna fujL; m|ksxa vkJf;rqa ekuoa
okja&okja izsj;frA vxzfyf[krka iafDra izR;sda Hkkjrh;% tkukfr& ^deZ.;sokf/kdkjLrs ek
Qys’kq dnkpu~A
,dinsu mÙkjr &
1½ loZ”kkL=e;h dk vfLr \
2½ xhrk fujk”kkuka eufl fda djksfr \ 2
iw.kZokD;su mÙkjr &
Hkxork osnO;klsu xhrk dFka iz.khrk vklhr~ \ 2
^,’kk* bfr loZukeina dL; d`rs iz;qäe~ \ 1
^fujk”kkuka eufl* vu;ks% in;ks% fo”ks’k.kina fde~ \ 1
nwjhd`R; bfr inL; i;kZ; ina fde~ \ 1
vukf/kdkj% bfr inL; fda foykseina iz;qäe~ \ 1
^iszj;fr* bfr fØ;kinL; drkZ d% \ 1
vL; vuqPNsnL; leqfpra “kh’kZda fy[kr A 1

[k.M% &  ^[k* ¼jpukReda dk;Ze~½

jkek;.kL; oSf”k’V;e~ vf/kd`R; fufnZ’V “kCnlkgk;su fe=a izfr i=a fy[krA 5
ladsrinkfu & ¼”kqHksPNq%] ueLrs] i=kr~] mithO;e~] ikouk% vkfndkO;e~ vj.;dk.Me~]
vjp;u~½

vFkok
es?knwre~ vf/kd`R; firq% iq=a izfr fufnZ’V “kCnlkgk;su i=a fy[kr&
ladsrinkfu & ¼oRl] lq’Bq] “kSyh fp=.ke~] ihM+k] izokg] HkO;e~] foHkDr%] izrh{kkegs½

iz0 1

1-

2-

3-
4-
5-
6-
7
8-

iz0 2 1-

2½

laLd̀r
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egkdfo dkfynkL;ksifj vuqPNsna fy[kr A 5
ok

egkdfo okYehds:ifj vuqPNsna fy[krA

[k.M% & ^x* ¼vuqiz;qäO;kdj.ke~½

fuEufyf[kr esa ls fdUgha pkj o.kksZa ds mPpkj.k LFkku fy[ksaA
[k] ,] o] “k] i] j 2

fuEufyf[kr esa ls fdUgha rhu “kCnksa dh lfU/k ;k lfU/kPNsn djsaA
u;ue~] vUo;%] iqujfi] bgSo] euksjFk%A 3

fuEufyf[kr okD;ksa esa mfpr foHkfDr yxkdj fjDrLFkkuksa dh iwfrZ djksA 5
1½  &&&&&&&& HkoUrq lqf[ku%A ¼loZ “kCn½
2½ lhrk &&&&&& lg oua xrk A ¼ifr “kCn½
3½ ;kn`”ka chta &&&&& Qye~ A ¼rkn`”k~ “kCn½
4½ l% &&&&&& o’kkZf.k v= ,o oRL;frA ¼uou~ “kCn½
5½ xkspj HkwekS &&&& pjfUr A ¼xks “kCn½

fuEufyf[kr okD;ksa esa mfpr fØ;k @ /kkrq yxkdj fjDr LFkkuksa dh iwfrZ djasA
1½ Nk=k% d{kk;ke~ o`Fkk u &&&&&&&&A ¼gl~ $ yksV~½ 5
2½ Roe~ dq= xUrqe~ &&&&& A +b’k~ $ yV~½
3½ eksgu% ijh{kke~ izFkea LFkkua &&&&&&&A ¼yHk~ $ yM~-½
4½ o;e~ xzh’e vodk”ks f”keyk uxja &&&&&& A ¼xe~ $ y`V~½
5½ fo|kfFkZu% fo|ky;kr~ cfg% u &&&&&A ¼xe~ $ fof/kfyM~-½

fuEufyf[kr esa ls fdUgha pkj ds izd`fr izR;; foHkkx djsa A 4
tkr%] if{k.k%] n`’V~ok] xkf;dk] R;äqe~] iyk;eku%A
fuEufyf[kr esa dsoy rhu mfpr vO;;ks dks pqudj fjDr LFkkuksa dh iwfrZ djasA   3
1½ tya izd`R;k &&&&&& ogfrA
2½ &&&&& lw;Z% vLra miSfrA
3½ v| lkseoklj% vfLr &&&&& jfooklj% vklhr~ A
 ¼uwue~] lka;e~] g~;%] feF;k] uhpS%½
fuEufyf[kr esa dsoy pkj okD;ksa dks “kq) djds fy[kasA 4
1½ nsoa ue%A
2½ xzkeL; mHk;r% o`{kk% lfUrA
3½ eksgu% d.kkZr~ of/kj% vfLr A
4½ iq=% firje~ LejfrA
5½ dkfynkl% dfofHk% Js’B%A

iz0 3

iz0 4 d½

[k½

x½

?k½

iz0 5 d½

[k½

x½
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fuEufyf[kr esa ls dsoy pkj leLrinkas dk foxzg djsaA 4
fiz;foghuk%] vdky%] pUnzeq[k%] f”k’;iq=%] ;Fkkdkye~A

[k.M% & ^?k* ¼ifBr&vocks/kue~½

v/kksfyf[kra x|ka”ka ifBRok rnk/kkfjr iz”ukukeqÙkjkf.k fy[kr &
vFk dnkfpr~ lÙokuka HkkX;oSdY;kr~ izeknkPp lE;x~ nsoks u oo’kZA o`’Vs% vHkkos rr~
lj% dnEcdqlqexkSjosu uolfyysu ;FkkiwoZe~ u ifjiw.kZe~~ tkre~A Øes.k p mixrs
funk?kdkys·fgedjfdj.kS% vfHkrIR;k /kj.;k] TokykuqxrsuSo ek:rsu] fiik”kko”kkfno
izR;ge~ vkih;ekue~ rr~ lj% y?kqiYyofeokHkor~A
1½ ,dinsu mÙkjr &

dL; vHkkos rr~ lj% ifjiw.kZe~ u tkre~\
2½ iw.kZokD;su mÙkjr&

nso% lE;x~ dFka u oo’kZ \
3½ ^vfHkrIR;k /kj.;k* v= fo”ks’k.k ina fde~ \
4½ ^vki%* bfr inL; fda i;kZ;ina iz;qäe~ \
5½ ^y?kqiYyofeokHkor~* bfr ins fØ;k ina fde~ \ 5

v/kksfyf[kra i|ka”ka ifBRok rnk/kkfjr iz”ukuqÙkjkf.k fy[kr A
galks ;Fkkjktri« tjLFk%] flagks ;Fkk eUnjdUnjLFk%A
ohjks ;Fkk xfoZrdq« tjLFk%] pUnzks·fi cHkzkt rFkk·EcjLFk%AA
,dinsu mÙkjr A
xfoZr ohj% dq= “kksHkrs \
iw.kZokD;su mÙkjr &
pUnz% dFka dFkfeo “kksHkrs \
^galks jktiU«tjL;%* v= fo”ks’;ina fde~ \
^pUnz%* bfr inL; i;kZ; ina fde~ \
^cHkzkt rFkk·EcjFk%* bfr ins drkZ d% \ 5

v/kksfyf[kr ukV;ka”ka ifBRok rnk/kkfjr iz”ukukeqÙkjkf.k fy[krA
HkokuhnÙk% ¼lØks/ke~½

ew[kZ ! rL; x`gefi ukfrnh?kZe~A vLoPNohfFkdk;ka fLFkre~A rL; firk·fi
“kkdQyfoØsrk u ro rkr bo f”kf{kr%A ,oEHkwrs·fi fdeFkZe~ r=k·xeLRoe~\
,dinsu mÙkjr &
dL; x`ge~ ukfr nh?kZe~ \
iw.kZokD;su mÙkjr &
lkse/kjL; firq% fLFkfr% dhn`”kh \
^x`gefi ukfrnh?kZe~* vu;ks% in;ks% fo”ks’k.ka ina fde~ \
^âLoe~* bfr inL; foykseina fde~ iz;qäe~ \

?k½

iz0 6

iz0 7-

1-

2-

3-
4-
5-

iz0 8

1

2

3
4
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^,oEHkwrs·fi fdeFkZa r=k·xeLRoe~* vfLeu~ okD;s d% de~ dFk;fr \ 5

v/kksfyf[krku~ iz”ukukfJR; iz”ufuekZ.ka dq:r %&
“kjn~ _rkS tye~ izlUua HkofrA
ckssf/klRo% ehudqyk; fpUrkedjksr~A
jksglsu% pk:nÙkL; iq=% vklhr~A
fLuX/ka Hkkstua bfUnz;kf.k n`<+hdjksfrA
gfj”kpUnz% Jo.kkS xkfU/ku% ân;s fuR;lfUufgrkS vkLrke~A 5

v/kksfyf[kr “yksdL; fjDrLFkkuiwfrZek/;esu vUo;a fy[kr %&
mn~Hkko;Lo oh;Za ok rka ok xPN /kzqoka xfre~A
/keZa iq=kxzr% d`Rok fda fufeÙka fg thoflAA 5
vUo; & iq= ! &&&& vxzr% &&&& oh;Ze~ ok &&&&] rka /kqzoka xfr ok &&&&&&A
fda &&&&&& fg thofl\

fgUnhHkk’kk;ka HkkokFkaZa Li’Vhdq#r &
iq’dji=ifrr tyfcUnqln`”kS% ØhMfl Roa iq:’kHkkx/ks;S%A
yksdkUrjxrL;so fda rL; thforsu okA 5

laLd`rsu mÙkjr &
izdh.kkZEcq/kja uHk% dFka foHkkfr \
fonqjk;k% iq=% dsu ijkftr% vHkor~ \
pjdlafgrk;k% jpf;rk d% \
jktuhfr “e”kkus’kq fda u Kk;rs \
dL; foyEcsu vkxeus jRuk fpfUrrk \ 5

[k.M% & ^?k*
Hkkx & vk ¼laLd`r lkfgR;L;sfrgkl%½

iapjk= ds jpf;rk Hkkl dk laf{kIr ifjp; fyf[k,A 5
vFkok

egkHkkjr ds jfp;rk osnO;kl dk laf{kIr ifjp; fyf[k,A

_Xosn dk laf{kIr ifjp; nhft,A 5
vFkok

dkfynkl }kjk jfpr vfHkKku”kkdqUrye~ dk laf{kIr ifjp; nhft,A

fdUgha nks ukV~dh; “kCnkoyh dh ifjHkk’kk fyf[k,A
vkRexre~] usiF;] ukUnhA 5

5

iz09
1
2
3
4
5

iz0 10

iz0 11
1
2

iz0 12
1
2
3
4
5

iz0 13

iz0 14

iz0 15
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PUBLIC ADMINISTRATION
(Hindi & English Versions)

le; % 3 ?k.Vs dqy vad % 100
Time Allowed: 3hrs M.M. 100

uksV %& 1- lHkh iz'u vfuok;Z gSaA
2- mÙkj laf{kIr ,oa Li"V gksus pkfg,A
3- 2 vadksa okys ç'uksa ds mÙkj 20 ls 50 'kCnksa esa

3 vadksa okys ç'uksa ds mÙkj 50 ls 100 'kCnksa es
4 vaadksa okys ç'uksa ds mÙkj 100 ls 150 'kCnksa esa
5 vadksa okys ç'uksa ds mÙkj 150 ls 200 'kCnksa esa
6 vadksa okys ç'uksa ds mÙkj 200 ls 300 'kCnksa esa
8 vadksa okys ç'uksa ds mÙkj 300 ls 400 'kCnksa esa nhft,

4- ç'u ua0 1 ds 10 Hkkx gSaA çR;sd Hkkx ds 2 vad gSaA izR;sd Hkkx ds 4 fodYi gSa
ftuesa ,d lgh gSA lgh dk p;u dhft,A

Note :-(i) All questions are compulsory.
(ii) Answer should be brief and to the point.
(iii) Answer to question of 2 marks in 20 to 50 words, of 3 marks in 50 to 100

words, 4 marks in 100 to 150 words, 5 marks in 150 to 200 words, 6 marks in
200 to 300 words and 8 marks in 300 to 400 words.

(iv) Question No. 1 has 10 parts. Each part carries 2 marks. Each part has four
alternatives and one of them is correct. Select the correct answer.

ç01- (i) yksd iz'kklu ds v/;;u fo"k; ds :i esa fdls yksd iz'kklu dk tUe&nkrk dgrs gSa \
(1) ,y-Mh- OgkbZV (2) ts- xqMuks (3) oqMjks foylu (4) ywFkj xqfyd

Who among the following is regarded as the father of discipline of Public
Administration?
(1) L. D. White (2) J. Goodnow
(3) Woodro Wilson (4) Luther Gullic

(ii) ukSdj'kkgh dh /kkj.kk dk fodkl fdlus fd;k \
(1) eSDl oScj (2) ,y-Mh- OgkbZV (3) lkbeu (4) ekdZl
The concept of bureaucracy was developed by ________.
(1) Max Webber (2) L.D. White (3) Simon (4) Marx

(iii) fuEu esa ls dkSu lk dk;Z eq[; dk;Zikfydk dk ugha gS \
(1) leUo; (2) fujh{k.k (3) tkap&iM+rky (4) O;oLFkkiu
Which of the following is not a function of Chief Executive ?
(1) Co-ordination (2) Supervision  (3) Investigation (4) Legislation
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(iv) fuEu esa dkSu lk laxBu dk rRo ugha gS \

(1) mís'; (2) fu;kstu (3) O;fDr (4) çfØ;k

Which of the following is not an element of organisation ?
(1) Purpose (2) Planning (3) Person (4) Process

(v) fuEu esa dkSu lk rRo gS ftlds vk/kkj ij lÙkk dk dsUæh;dj.k rFkk fodsUæhdj.k ugha

fd;k tk ldrk gS \

(1) mÙkjnkf;Ro dk rRo  (2) ç'kkldh; rRo  (3) U;kf;d rRo  (4) dk;kZRed rRo

Which of the following is not a factor responsible for centralisation and
decentralisation ?
(1) Factor of responsibility (2) Administrative factor
(3) Judicial factor (4) Functional factor

(vi) ßfu"i{krk ds vk/kkj ij pqus tkuk] iz'kkldh; n`f"V ls ;ksX; gksuk] jktuSfrd rkSj ij

fu"i{k gksuk rFkk jk"Vª ds izfr lsok dh Hkkouk j[kuk vlSfud lsokvksa dh eq[; fo'ks"krk

gSAÞ ;g 'kCn fdlus dgs \

(1) ,y-Mh- OgkbZV (2) xySMu (3) QkbZuj (4) oScj
"The requirements of the civil service are that it shall be impartially selected
and administratively competent, politically neutral and imbued with the spirit
of service to the community."
(1) L.D. White (2) Gladen     (3)   Finer     (4) Webber

(vii) vf[ky Hkkjrh; lsokvksa ds lEcU/k esa ubZ HkrhZ iz.kkyh -----------------o"kZ esa ykxw dh xbZA

(1) 1978 (2) 1979 (3) 1993 (4) 1995

New system of recruitment to All India Services came into force in the year
_________.
(1) 1978 (2) 1979 (3) 1993 (4) 1995

(viii) ljdkjh deZpkfj;ksa dks vius dÙkZO; ikyu djus ds ifj.kke Lo#i ltk dh çfØ;k dks

----------------------- dgrs gSaA

(1) ewY;kadu   (2)  vuq'kkldh; dk;Zokgh  (3) ewY; fu/kkZj.k   (4) n.M
The process of rewarding punishment to government employees for lapse of
duty  is ____________.
(1) Evaluation   (2) Disciplinary action (3) Appraisal (4) Penalities

(ix) ßvkRecy ,d LoLFk jkstxkj O;oLFkk dk lwpd gS vkSj ldq'ky laxBu ds fuekZ.k dk

lk/ku gSAÞ fdlus dgk \

(1) eSMy  (2) ,y-Mh- OgkbZV (3) yhVu (4) eSlyks

"Morale is both an index of  a sound employment situation and a positive means
of building up an efficient organisation." Who said ?

(1) Mendal (2) L.D. White (3) Lieghton (4) Maslow
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(x) fuEufyf[kr esa ls dkSu lh fof/k iz/kku dk;kZy; }kjk {ks=h; bdkbZ;ksa ij fu;U=.k ds
fy;s viukbZ tkrh gSA
(1) ctV (2) dk;Zokfg;ksa dk iqukZoyksdu
(3) fjiksVZ çkIr djus dh 'kfDr (4) mijksDr lHkhA
Which of the following are the means to exercise control over field agencies
by the headquarters ?
(1) Budget (2) Review of Action
(3) Power to get report (4) All the above   (20)

ç02- yksd iz'kklu ls D;k vfHkizk; gS \ bldh izd`fr o {ks= dk o.kZu djksA
Discuss the meaning of Public Administration. Discuss its nature and scope.        6

ç03- fdlh ,d dh lekurkvksa o fHkUurkvksa dk o.kZu djksA
1- yksd iz'kklu rFkk jktuhfr 'kkL= 2- yksd iz'kklu rFkk vFkZ 'kkL=
Write the similarities and differences of one of the following :
(i) Public Administration and Political Science
(ii) Public Administration and Economics 4

ç04- ßiz'kklu lnSo uhfr dk nkl gksrk gS pkgs mldk {ks= uhft gks ;k lkoZtfudAÞ O;k[;k dhft,A
"Whether the sphere of interest be Public or Private, administration is always the
servant of Policy". Discuss. 2

ç05- eq[; dk;Zikfydk ls D;k vfHkizk; gS \ blds dk;ks± dk o.kZu djksA
What is meant by Chief Executive ? Explain its functions. 4

ç06- laxBu ls D;k vfHkizk; gS \ laxBu ds fofHkUu vk/kkjksa dk o.kZu djksA
What is organisation ? Discuss the basis of organisation. 5

ç07- laxBu ds {ks= esa inlksiku ds fl)kUr ds ykHk o gkfu;ksa dk o.kZu djksA
In an organisation define the principle of hierarchy and describe its merits and demerits.

;k
e.My rFkk C;wjks iz.kkyh ls D;k vfHkizk; gS \ blds ykHk o gkfu;ksa dk o.kZu djksA
What do you understand by Bureau and Board type of organisation. Also explain its
merits and demerits. 5

ç08- ßinkf/kdkjh dks u;s lekt dk ewy L=ksr gksuk pkfg;s vkSj mls ges'kk izR;sd Lrj ij mUufr
dh gh ckr djuh pkfg,AÞ o.kZu djksA
"Official must be the mainspring of new society, suggesting promoting and advising
at every stage". Discuss.     3

ç09- ukSdj'kkgh ds D;k nks"k gSa \ bUgsa dSls nwj fd;k tk ldrk gS \
What are the evils of Bureaucracy. Suggest some defects of removal of bureaucracy.

4
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ç010- ;ksX;rk dks inksUufr dk vk/kkj ekurs gq, blds xq.k o nks"kksa dk o.kZu djksA

What are the merits and demerits of seniority as the basis of promotion.        5

ç011- izf'k{k.k ls D;k vfHkizk; gS \ Hkkjrh; fons'k lsok ds vf/kdkfj;ksa ds izf'k{k.k dk o.kZu djksA

What is training ? How the personnel of IFS are trained ?        4

ç012- ßinksUufr dk vFkZ gS vf/kd mÙkjnkf;Ro] mPp in ,oa izlaxo'k ;|fi ekSfyd :i esa ugha] mPp
osru Øe ls gSAÞ o.kZu djksA
"Promotion means more responsibility, higher ranks and incidentally through not
fundamentally higher salary". Explain it. 2

ç013- vkpj.k ls D;k vfHkizk; gS \ deZpkfj;ksa dks bZekunkjh o jktuhfr ds lEcU/k esa D;k fu;e gSaA
o.kZu djksA
Define conduct. Describe the rules of conduct regarding integrity - political
neutrality of Public personnel.

Or ;k
vuq'kklu ls D;k vfHkizk; gS \ bldh fof/k;ka o bl lEcU/k esa viukbZ tkus okyh izfØ;k dk
o.kZu djksA
Define discipline. What type of disciplinary actions are taken against the public
servants? Explain the procedure. 8

ç014- osru fu/kkZj.k djrs le; fdu rRoksa dks /;ku esa j[kuk pkfg, \
What factors would be kept in view while deciding salary ? 4

ç015- ljdkjh lsokvksa esa vkRecy dk D;k egRo gS \ bldk fuekZ.k dSls fd;k tk ldrk gS \ o.kZu djksA
What are the significance of morale in Public services. How can it be built up ?   6

ç016- iSU'ku o Hkfo"; fuf/k esa D;k vUrj gS \ o.kZu djksA
Write the differences between Pension and Provident fund. 3

ç017- iz;os{k.k ls D;k vfHkizk; gS \ iz;os{k.k ds fofHkUu rjhdksa dk o.kZu djksA
What is supervision  ? Write the different methods of supervision. 4

ç018- usr`Ro ls D;k vfHkizk; gS \ usr`Ro dh fdLeksa o dk;ks± dk o.kZu djksA
Define leadership. Explain the kinds and functions of leadership.

Or ;k
fu.kZ; ysus ls D;k vfHkizk; gS \ fu.kZ; dh çfØ;k esa mBk, tkus okys dneksa dk o.kZu djksA
What do you mean by decision making ? What are the steps taken in the process of
decision making ? 5

ç019- mu fof/k;ksa dk o.kZu djks ftuds }kjk iz/kku dk;kZy; {ks=h; dk;kZy;ksa ij fu;U=.k djrk gSA
Describe the methods by which headquarter exercise its control over field forces.

3
ç020- yksd lEidZ ls D;k vfHkizk; gS \ blds dk;ks± dk o.kZu djksA

Define public relations. Explain the functions of Public relations. 3
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PHYSICAL  EDUCATION  (THEORY)

Time Allowed : 3 Hours M.M. : 70

ijh{kkFkhZ ;FkklEHko vius ‘kCnksa esa gh mÙkj nsaA çR;sd ç’u ds vad blds lkeus fn, x, gSaA

Candidates are required to give their answers in their own words as far as practicable. Marks
allotted to each question are indicated against it.

uksV % lHkh ç’u vfuok;Z gSaA

All questions are compulsory.

[k.M & v

Part - A

çå1 ‘kkjhfjd f’k{kk dk vFkZ vkSj ifjHkk”kk fyf[k,A blds y{; vkSj mís’;ksa dk Hkh o.kZu

dhft,A

Write about the meaning and definition of Physical Education. Also describe its aim
and objectives.

vFkok (OR)

‘kkjhfjd f’k{kk ds egRo rFkk vk/kqfud /kkj.kk ds ckjs esa fyf[k,A

Write about the importance and modern concept of Physical Education. 7, 7

çå2 ikpu ç.kkyh rFkk ‘okl ç.kkyh ij O;k;ke ds dkSu&2 ls fofHkUu çHkko iM+rs gS \

What are the various effects of exercises on Digestive system and Respiratory System ?

vFkok (OR)

[ksy Hkkouk ls vkidk D;k rkRi;Z gS \ çsj.kk dk [ksyksa esa D;k ;ksxnku gS \

What do you mean by sportsmanship ? What is the role of motivation in Sports ?
6, 8

[k.M & c

Part - B

çå3 futh [ksy fo’ks”k dh çeq[k ‘kCnkoyh rFkk bfrgkl dk o.kZu dhft,A

Describe the main terminologies and history of your own choice game.

vFkok (OR)

futh [ksy fo’ks”k ds çeq[k dkS’ky rFkk jk”Vªh; Lrj ij fn, tkus okys [ksy iqjLdkj

ds ckjs esa fyf[k,A

Physical Education (Theory)
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Write down the basic fundamental skills of your own choiced game and also write
about sports awards given on National Level. 6, 8

[k.M & l

Part - C

çå4 LokLF; f’k{kk ds y{; vkSj mís’; D;k gSa \ blds egRo dk Hkh o.kZu dhft,A

What are the aims and objectives of Health Education ? Also describe its importance.

vFkok (OR)

LokLF; f’k{kk esa dk;Zjr laLFkkvksa ds dk;ksZa dk o.kZu dhft,A

Describe the functions of such institutions involved in health promotions. 5, 9

çå5 eksVkik D;k gS \ blds dkj.k rFkk ‘kjhj ds Hkkj de djus ds fofHkUu lq>ko fyf[k,A

What is obesity ? Write its causes and various suggestions for body weight reduces.

vFkok (OR)

jScht+ rFkk /kudokv jksx QSyus ds dkj.k] y{k.k] jksdFkke rFkk mipkj ds ckjs esa

fyf[k,A

Write about the mode of transmission of the symptoms, prevention and treatment of
Rabies and Tetanus. 4, 10

Physical Education (Theory)
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INFORMATICS PRACTICES (Theory)

Time : 3hrs. M.M.70

ijh{kkFkhZ ;FkklaHko vius ijh{kkFkhZ ;FkklaHko vius ijh{kkFkhZ ;FkklaHko vius ijh{kkFkhZ ;FkklaHko vius ijh{kkFkhZ ;FkklaHko vius ’kCnksa esa gh mÙkj nsaAnksa esa gh mÙkj nsaAnksa esa gh mÙkj nsaAnksa esa gh mÙkj nsaAnksa esa gh mÙkj nsaA

Candidates are required to give their answer in their own words as far as Practicable.
izR;sd iz’u ds vad mlds lkeus fn, x, gSaAizR;sd iz’u ds vad mlds lkeus fn, x, gSaAizR;sd iz’u ds vad mlds lkeus fn, x, gSaAizR;sd iz’u ds vad mlds lkeus fn, x, gSaAizR;sd iz’u ds vad mlds lkeus fn, x, gSaA

Marks alloted to each question are indicated against it.

uksV %& lHkh iz’u vfuok;Z gSaAuksV %& lHkh iz’u vfuok;Z gSaAuksV %& lHkh iz’u vfuok;Z gSaAuksV %& lHkh iz’u vfuok;Z gSaAuksV %& lHkh iz’u vfuok;Z gSaA

 All Questions are Compulsory.

Q1. fuEufyf[kr dFku esa lgh o xyr cukb,%&

State whether the following statements are true or false:

(a) ,d fucy esa  8 bits gksrs gSa.
A Nibble consists of 8 bits.

(b) MS-Word ,,d  System Software gSA
MS-Word is a system Software.

(c) MS-Dos dk eryc Microsoft Dynamic Operating System gksrk gSA
MS-Dos Stands for Micro Soft Dynamic Operating System.

(d) Footer gj ist ds uhps Print gksrk gSA
A Footer is Printed at the bottom of every page.

(e) User, label control esa  text dks cny ldrk gSA
The user can change text in a label Control.

(f) RIM Statement ds }kjk  variables dks  Declare fd;k tkrk gSA

The RIM Statement declares the variables.

(g) Visual Basic, event driven programming dk leFkZu djrh gSA

Visual basic supports event driven programming

(h) rkfydk] lacf/kr bytes dk laxzg gSA

A table is a collection of related bytes.

(I) SQL dk eryc Structured Query Language gksrk gSA
SQL Stands for Structured Query Language.

(J) Primary Key ,d  Candidate Key gSA
A Primary Key is a Candidate Key (1x10=10)

Informatics Practices (Theory)
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Q2. (a) Computer dh block diagram cukb,A
Design a block diagram of Computer. (3)

(b) RAM vkSj ROM esa vUrj crkb,A
Differentiate between RAM and ROM. (3)

(OR)
Assembler, Interpreter vkSj Compiler dh O;k[;k dhft,A

Explain Assembler, Interpreter and Compiler. (6)
(OR)

MS-Word ls vki D;k le>rs gSa\ bldh fo’ks’krk,a fyf[k,A

What do you understand by MS-Word ? Explain its Features. (6)

Q3. (a) Compile time vkSj run time errors esa vUrj crkb,A
Differentiate between compile time and run time errors. (3)

(b) Testing ls vki D;k le>rs gSa\
What do you understand by testing? (4)

(OR)
(a) Flow Chart vkSj Decision table ls vki D;k le>rs gSaa \

Explain:-
(1) Flow Chart
(2) Decision table. (3)

(b) Program Documentation ls vki D;k le>rs gS\
What do you understand by Program Documentation. (4)

Q4. (a) Visual Basic D;k gS \ bldh fo’ks’krkvksa dh O;k[;k dhft,A

What is Visual Basic? Explain its features. (5)

(b) Visual Basic }kjk lefFkZr Data Types dh O;k[;k dhft,\

Explain the data types supported by Visual Basic . (5)
(OR)

Visual Basic ds fofHkUu Controls dh O;k[;k dhft,\

Explain different types of Controls supported by Visual Basic. (10)

Q5. (a) Control Array ls vki D;k le>rs gSaA
What do you understand by Control Array. (5)

(b) O;k[;k dhft, %&

(1)  Pop-Up Menu
(2) Shortcut Menu
Explain :-
(1) Pop-up Menu
(2) Short Cut Menu.      (5)

(OR)
Informatics Practices (Theory)
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(a) Dialog box ls vki D;k le>rs gSa\ mudk ç;ksx D;ksa gksrk gSA

What do you mean by Dialog Box? Why they are used? (5)

(b) Access Key vkSj Short Cut Key esa vUrj crkb,\       (5)
Differentiate between Access Key and Short Cut Key.

Q6. (a) Normalization ls vki D;k le>rs gSaA
3 NF dh O;k[;k dhft,\

What do you understand by normalization? Explain 3NF. (4)

(b) Data Base Management System dh O;k[;k dhft,A

Explain Data Base Management System.
(OR)

(a) Data Redundancy ls D;k eryc gS\ O;k[;k dhft,A

What do you mean by Data Redundancy? Explain. (3)

(b) O;k[;k dhft, %& Explain:
(1) Primary Key (2) Foreign Key
(3) Alternate Key (4) Candidate Key (4)

Q7. (a) SQL esa fofHkUu izdkj ds Constraints dh O;k[;k dhft,A

Explain different types of Constraints in SQL. (5)

(b) fuEufyf[kr dh O;k[;k dhft, \

Explain the following. (5)
(1) Where Clause (2) Having Clause
(3) Group By Clause

(OR)
(a) Front end vkSj Back end dh O;k[;k dhft,A

Explain Front end and Back end. (5)

(b) Data Definition language vkSj Data Manuplation language esa vUrj crkb,A
Differentiate between DDL and DML. (5)

Q8- fuEufyf[kr Functions dh O;k[;k dhft,, [fdUgha ikap]
Explain the following functions [any five] 10
(1) CONCAT (  )
(2) LTRIM (  )
(3) MOD (   )
(4) ROUND (   )
(5) POWER (   )
(6) TRUNC (   )
(7) UPPER (   )

Informatics Practices (Theory)
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PHYSICS (THEORY)

Time Allowed : 3 Hours M.M. : 70

General Instructions
1. Write question paper series in the Circle at the top left side of title page of your an-

swer sheet.
2. Indicate the same question No. on your answer sheet as appears in your question paper.
3. All questions are compulsory.
4. Internal choice is given in some questionss.
5. Use log tables if necessary.
6. Answer should be brief and to the point.
7. Questions No. 1-7 are of MCQ (Multiple Choice questions) carrying 1 mark, question

No. 8 to 16 are of short answer type carrying 2 marks, Question No. 17-26 are short
answer type carrying 3 marks and question No.27-29 are long answer type questions
carrying 5 marks each.

Q.1. Two given nectors are said to be parallel
a) if their dot product is zero.
b) if their cross product is zero.
c) if their dot product is 90.
d) if their cross product is 90. 1

Q.2.  The net force acting on a  body of mass 10 kg moving with uniform velocity of
2 ms–1 is
a) 20N b) 5 N
c) 0 N d) 2 N  1

Q.3. A light and a heavy body have equal momentum which one has greater K.E. ?
a) The light body b) Both have equal K.E.
c) The heavy body. 1

Q.4. If I, α and τ are moment of Interia, angular acceleration and torque respectively of a
body rotating about any axis with angular velocity ω then
a) τ = Iα (b) τ = Iω
C) I = τω d) a = τω 1

Q.5. Dimensional formula of pressure gradient is :
a) [M–1L–2T–2] b) [ML–2T–2]
c) [ML–3T–2] d) [ML2T–2] 1

Physics (Theory)
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Q.6. The Load versus elongation graph for four wires of the same material is shown in fig.

Load

Elongation

The thinnest wire is represented by the line
a) OC b) O D c) O A d) OB 1

Q.7. For a particle executing S.H.M. which of the following statements holds good.
a) The potential energy of the particle remains constant.
b) The Kinetic energy of the particle remains constant.
c) The velocity is minimum at mean position.
d) The restoring force is maximum at the extreme position. 1

Q.8. Discuss the velocity time graph when a body is moving with uniform velocity along a
straight line.

or
Discuss the position time graph when a body is moving with uniformly accelerated
motion along a straight line.        2

Q.9. Discuss the dot product of two given vectors in terms of their rectangular
components.        2

Q.10. It is difficult to catch  a cricket ball than to catch a tennis ball? 2
OR

Why a cricket player lowers his hands while catching a ball?

Q.11. How does a lubricant help in reducing friction?  2

Q.12. A body constrained to move along the z- axis of a Co-ordinate system is subject to a
constant force  F = (–î + 2j + 3k) newton. What is the work done by this force in
moving the body over a distance of 4m. along the z-axis.          2

Q.13. How will you distinguish between a hard boiled egg and a raw egg by spinning each on
a table top?          2

Q.14. Discuss the effect of altitude on acceleration due to gravity? 2

Q.15. Prove that steel is more elastic than rubber? 2

C
B

D

A

O
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Q.16. Give the two equivalent statements of second law of thermo dynamics. 2
2 x 9 = 18

Q.17. Dimensionally derive an expression for the volume of liquid flowing per second ‘ν’
through a pipe, which may depend upon the radius ‘r’ pressure gradiant (P/l) and co-
efficient of viscosity  ‘η’ of the liquid.         3

OR
Dimensionally derive an expression for the frequency ‘n’ of a vibrating string which
may depend upon length ‘l’ of the string, Tension ‘T’ in the string and mass per unit
length ‘m’ of the string.        3

Q.18. Show that during freely falling body the total mechanical energy always remains con-
served.        3

Q.19. Obtain an expression for moment of Inertia of a uniform circular disc about a diameter
of the disc.

3
Q.20. What do you understand by Gravitational field? The gravitational force between two

bodies is 1 newton. If the distance between them is made twice, what will be the new
force between them?    (1,2)

OR

What is orbital velocity? If a person goes to a height equal to radius of earth from the
surface, what would be his orbital velocity relative to that on the earth?    (1,2)

Q.21. Establish a relationship between surface energy and surface tension?  3

Q.22. Define two principal specific heats of a gas. Which is greater and why?        (1½, 1½)

Q.23. What is a heat engine? Obtain an expression for its efficiency. (1,2)

Q.24. A body oscillates with S.H.M. according to the equation           metres.
What is
a) amplitude and
b) The velocity at t = 2s 3

Q.25. What are transverse waves? Discuss the effect of temperature on the velocity of sound?
(1,2)

Q.26. Briefly discuss the formation of standing waves in open organ pipes. 3
3 x 10 = 30

Q.27. Derive an expression for the equation of a parabola when a projectile is projected at an
angle θ   with the horizontal, also find its :

x = 6 cos   3 t +   
 

Physics (Theory)
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a) Total time of flight.
b) Maximum height attained by it.

(2,1½,1½)
OR

What is uniform circular motion? Establish a relationship between angular velocity
and angular acceleration.
The blades of an aeroplane propeller are rotating at the rate of 600 revolutions per
minute. Calculate its angular velocity. (1,2,2)

Q.28. What do you understand by Banking of Roads? Why does water from a bucket not fall
even when it is up side down while rotating in a vertical circle?  A curved road of
diameter 1800m is banked so that no friction is required at a speed of 30 ms–1. What is
the banking angle? (1,2,2)

Q.29. Derive an expression for the pressure exerted by a gas by following the assumption of
the kinetic theory of gases.          5

Physics (Theory)
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CHEMISTRY

Time allowed : 3 Hours Maximum Marks : 70

General Instructions :-
1. Candidates are required to give their answers in their own words as far as practicable.
2. Marks allotted to each question are indicated against it.

Special instructions :-
1. You must write question paper series in the circle at top left side of title page of your

answer sheet.
2. Do not leave blank pages in your answer book.
3. All the questions are compulsory. Internal choices have been given in some questions.
4. Question no. 1 to 7 are multiple choice type question (M.C.Q.). Choose one correct

answer among four options.
5. Questions no. 8 to 10 are very short answer type questions carrying one mark each.

Answer these in about one sentence or one word.
6. Questions No. 11 to 16 are short answer type question carrying 2 (two) marks each.

Answer these in about 30 words each.
7. Questions no. 17 to 27 are short answer type questions carrying 3 (three) marks each.

Answer these questions in about 40 words.
8. Questions no. 28 to 30 are long type questions of 5 (five) marks.
9. Use log tables if necessary. Calculator is not allowed.

Q1. Which element is having the highest electro-affinity :
(a) O (b) cl (c) F (d) N 1

Q2. How many no. of Π-covalent bonds are present in single molecule of ethyne.
(a) 1 (b) 2 (c) 3 (d) 4 1

Q3. The correct electronic configuration of chromium atom (Cr.) is : 1
(a) [Ar]3d54s1  (b) [Ar]3d4s2 (c) [Ar]3d64s° (d) [Ar]4d54s1

Q4. Which substance having the highest entropy.
(a) Water (b) Ice (c) Air (d) H2 gas 1

Q5. Conjugate acid of NH2

(a) NH2OH (b) NH4 (c) NH2– (d) NH3 1

Q6. Oxidation state of Fe in Fe3O4 is :
(a) +2 (b) +3 (c) + (d) + 1

Q7. The least abundant isotope of hydrogen is :

(a) H (b) D (c) T (d) both a and b 1

–1

+

8
3

2
3

1
1

2
1

3
1
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Q8. Write the formula of Plaster of Paris. 1

Q9. Define inert pair effect. 1

Q10. Write the IUPAC - name of isopentane 1

Q11. Write four differences between orbit and orbital. 2

Q12. Draw the shape of the :
(a) π*2px molecular orbital (b) σ 2p  molecular orbital. 2

Q13. Explain the following :-
(a) Why bond angle in water is lesser than that of ammonia molecule ?
(b) Explain why BeH2 molecule has a yero dipole moment although, the Be –H

bonds are polar. 1×2=2

Q14. Derive the ideal gas equation. 2

Q15. Calculate the density of ammonia (NH3) at 30°C and 5 bar pressure. 2

Q16. Write the construction and working of Normal Hydrogen electrode (N.H.E.) 2
OR

Write the construction and working of electro-chemical cell.

Q17. (a) Define the Law of Multiple Proportion. 1
(b) Calculate the no. of atoms of each kind present in 10.6 gm. Na2CO3. 2

Q18. (a) Define the following :-
(i) Hund's Rule (ii) Bohr Bury's Rule 2

(b) List the value of all quantum No. for an electron present in 4f orbital. 1

Q19. (a) Why the size of cation always smaller than its parent atom. 2
(b) Arrange the following ions in the order of decreasing their size :-

Mg2+  , Al3+, O2– 1

Q20. (a) Write the four uses of hydrogen peroxide. 2
(b) Why do we store sodium metal in kerosene oil and not in water ? 1

Q21. Write the biological importance of Sodium and Potassium.
OR

Write the Salvay process for the manufacture of Sodium Carbonate. (Na2CO3).        3

Q22. Explain the structure of diborane. 3

Q23. Explain the following :-
(a) Why CCl4 can not be hydrolysed while SiCl4 can be easily hydrolysed.
(b) Why is graphite good conductor of electricity but diamond is not although

both are made up of carbon element.
(c) Why is CO2 gas but SiO2 solid.       3×1 = 3

z
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Q24. What is homologous series ? Write its important characteristics. Explain it by taking
suitable example. 3

Q25. Write the IUPAC - name of the following :-
(a) (CH3)2 CH —   CH — CH      C — CH2 — CH3

  CH3               CH3

(b) CH3 — CH — CH2 — CH — C2H5

 C2H5      CH3

(c) CH2 = C — CH — C  ≡ CH

            CH3         CH3 3

Q26. Write a note on the following :-
(a) Decarboxylation Reaction
(b) Wurtz Reaction
(c) Ozonolysis 3

Q27. What is green house effect ? What are its effects ? 3

Q28. (a) Drive relationship between ΔH and ΔE. 3
(b) Propane has structure CH3 — CH2 — CH3. Calculate the enthalpy changes

(ΔH°) for reaction :-
C3H8(g) + SO2(g) t 3CO2(g) + 4H2O(g)
Bond energy of various bonds are :-
C – C (347 KJ/mol), C — H (414 KJ/mole)
O = O (498 KJ/mol) C = O (741 KJ/mole)
O – H (464 KJ/mol) 2

Q29. (a) Write the application of equilibrium constant. 2
(b) The pH of a tomato juice is 4.4. Calculate [H3O

 ] and [OH  ]. 2
(c) Write a note on common ion effect. 1

OR
(a) Calculate the solubility of PbCl2 if its solubility product is 1.0 × 10–6 at 298 K.

2
(b) Write a note on hydrolysis of salt. 2
(c) Write Lewis concept of acid and base. 1

Q30. (a) What happens when :-
(i) Propene is treated with HBr.
(ii) Benzene is treated with methyl chloride in the presence of anh. AlCl3.
(iii) Chloroform is treated with silver powder and heat. 3×1=3

(b) Prove that phenolic gr (–OH) is ortho and para directing gr. 2

–
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BIOLOGY (THEORY)

Time : 3 hrs M.M. 70

1) Candidates are required to give their answers in their own words as far as practicable.
2) Marks allotted to each question are indicated against it.
3) You must write question paper series in the circle at top left side of title page of your

answer book.

Special Instruction:
1) While answering your questions you must indicate on your answer book the same ques-

tion No. as appears in your paper.
2) Do not leave blank page / pages in your answer book.
3) All the questions are compulsory and are divided into four sections. An internal choice

has been made in 3 questions of two marks, 2 questions of three marks and 2 questions
of five marks. Attempt only one of the choice in such questions.

4) Question Nos. 1-5 are of one mark each. There are total 7 multiple choice questions. 5
out of 7 are in section A and remaining 2 are in section D.

5) Questions 6-15 are of two marks each. Answer them in 20-30 words.
6) Questions 16-25 are of three marks each. Answer them in 30-60 words.
7) Questions 26-28 are of five marks each. Answer them in 80-120 words.

Section - A
1) Who gave five kingdom system of classification.

a) Carolus Linnaeus b) Robert Brown
c) R.H. Whittaker d) C. Golgi 1

2) Which of the following tissue in plants is responsible for conduction of water.
a) Epithilial Tissue b) Phloem
c) Xylem d) None of these.   1

3) Which of the following are organelle is called as protein factory of the cell.
a) Ribosome b) Mitochondria
c) Chloroplast d) Nucleus 1

4) Sweet Potato is a modification of
a) Stem b) Root
c) Leaf d) None of these. 1

5) Which of the following is the vestigeal organ in human alimentry cannal.
a)  Liver b) Vermiform Appendix
c) Rectum d) Large intestine 1

Biology (Theory)
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Section - B
6) What is meant by double circulation? Give its significance.

OR
Give diagrammatic representation of Nephron. 2

7) Define the following terms.
a) Mycorrhiza         b) Parasite         c) Lichen            d) Karyogamy 2

8) Write down the main functions of mitochondria.
OR

Write down the functions of Nucleus. 2

9) Differentiate between open and closed vascular bundle. 2

10) Why transpiration is considered as necessary  evil?
OR

Differentiate between Transpiration and Guttation? 2

11) a) Differentiate between Endocrine and Exocrine glands.
b) What do you understand by Heterocxine gland. 1+1=2

12) Write brief note on biological nitrogen fixation. 2

13) Define Enzyme. How the enzyme enhance the rate of biochemical reaction ?
2

14) Define the following terms:
i) Tetradidynamous
ii) Actinomorphic flower
iii) Gamopetlous flower
iv) Polyadelphous condition ( ½ + ½  + ½ + ½ = 2)

15) Write down the general characters of phylum Annelida. 2

Section - C

16) a) Write down the criteria to assign scientific name to an organism.
b) Which cell organellae is called as Sucidal bag of the cell. (2+1=3)

17) Draw well labelled Transverse Section ( T.S.) of Dicot root. 3

18) Describe along with diagram prophase -I of meosis I. 3

19) Differentiate between cyclic and non-cyclic Photophosphorylation.
OR

Biology (Theory)
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Why C4 plants are considered more efficient in photosynthesis.  3
20) Explain the following terms.

a) Residual volume.
b) Total lung capacity
c) Tidal volume. 1+1+1=3

21) Why the Abicissic acid is known as stress hormone? 3

22) Bile doesn’t have any Enzyme. How it helps in the digestion.
OR

Explain the mechanism of muscle contraction.  3

23) Differentiate between RNA and DNA. 3

24) Explain the process of conduction of nerve impulse along the nerve fiber. 3

25) What do you understand by photoperiodism? Explain Short day Plant, Long day plant
and Day neutral plants.         3

Section - D

26) a) Explain the fluid mosaic model of cell membrane.
b) Write down the functions of Carbohydrates.

OR
a) What do you understand by Enzyme inhibition. Explain various types of

Enzyme inhibition.
b) Differentiate between Eukaryotic cell and Prokaryotic cell. (3+2=5)

27) a) Give the schematic diagram of Glycolysis. 3
b) Name the Excretory organ of

i) Cockroach ii) Earthworm
iii) Human beings iv) Flat warm  (½+½+½+½ = 2)

28.) a) Draw the internal structure of Human Heart.
OR

Draw the structure of Human eye. 3
b) RQ for Carbohydrate is

i) 0.5 ii) 1.0 iii) 1.5 iv) 0.75
   1

c) Longest bone in the human body is
a) Tibia b) Fibula c) Humerus d) Femur

1

Biology (Theory)
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MATHEMATICS

Time allowed : 3 Hours Maximum Marks
:100

Chapter

UNIT-1
1. Sets and functions 1+1+4=6
2. Relations and functions 1+3+4=8 (4(c))
3. Trignometric functions 1+1+3+4+6=15 (6(c))

UNIT-II
1. Principle of Mathematical Induction 4 = 4
2. Complex Numbers and Quadratic equation 1+3+4 = 8 (3(c))
3. Linear Inequalities 4 = 4 (4(c))
4. Permutations & Combinations 1+4=4
5. Binomial Theorem 6 = 6 (6 (c))
6. Sequence and Series 4+6=10

UNIT-III
1. Straight Lines 4 = 4
2. Conic Sections 1+4=5 (4(c))
3. Introduction to three dimensional Geometry 4 = 4

UNIT-IV
1. Limits and Derivatives 1+1+4=6

UNIT-V
1. Mathematical Reasoning 3=3

UNIT-VI
1. Statistics 6=6
2. Probability 6 = 6 (6(c))

Mathematics
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MATHEMATICS

Time allowed : 3 Hours Maximum Marks :100

Q.No. Marks Total
1 - 10 1 10
11-14 3 12
15-26 4 48
27-31 6 30

          100

Choice :
Q.No. 13,16, 20, 24, 27, 28, 31
Marks 3, 4, 4, 4, 6, 6, 6 = 33
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MATHEMATICS

Time allowed : 3 Hours Maximum Marks :100

Marks allotted to each question are indicated against it.

Special Instructions :-
1. You must write question paper series in the circle at top left side of title page of your

answer book.
2. While answering your questions you must indicate on your answer book the same

questions number as appears in your question paper.
3. Do not leave blank page / pages in your answer book.
4. Question Nos. 1 to 10 multiple choice questions are of 1 mark each. Questions 11

to 14 are of 3 marks each. Question Nos. 15 to 26 are of 4 marks each.
Question Nos. 27 to 31 are of 6 marks each.

5. All questions are compulsory.
6. Internal choices have been provided in some questions. You have to attempt only one

of the choices in such questions.
7. Use of calculator is not permitted, however, you ask for Logarithmic tables, if required

from the Superintendent of examination.
8. Try to answer the questions in serial order as far as possible.

Q1. The set of A =    x : x � R, x² = 16 and 2x = 6     equals

(a) '     (b) {14, 3, 4} (c) {3} (d) {4}          1

Q2. The set of intelligent student in a class is :
(a) a null set (b) a singleton set
(iii) a finite set (iv) not a well defined collection. 1

Q3. let f = {(1, 5), (2, 6), (3, 4)}
g = { (4, 7), (5, 8), (6, 9)} 1

the gof is
(a) {(4, 7), (5, 8), (6, 9), (1, 5), (2, 6), (3, 4)}
(b) { }
(c) {(1, 8), (2, 9), (3, 7)}
(d) None of these

{         }
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Q4. If sin � = – and cos � = , then � lies in

(a) Ist quadrant (b) IInd quadrant
(iii) IIIrd quadrant (iv) IVth quadrant 1

Q5. The maximum value of sin� cos� is

(a) 1 (b)

(c) (d) 1

Q6. The value of 15c11 ÷ 15c10 is equal to

(a) (b)

(c) (d) 1

Q7. The eccentricity of Parabola y² = – 8x is :
(a) –2 (b) 2 (c) –1 (d) 1 1

Q8. Lt. [sinx] is :
xd

(a) 1 (b) 0 (c) –1 (d) None of these 1

Q9. Lt.  sin� is :
�d 0
(a) 1 (b) 0 (c) –1 (d) None of these 1

Q10. Complex conjugate of i is :
(a) i (b) –1 (c) 0 (d) 1 1

Q11. Let A = {1, 2, 3}, B = {3, 4} and C = {4, 5, 6}
Find (i) A × (BAC)

(ii) (A×B) 4 (A×C) 3
Q12. Convert 6 radians into degree measure. 3
Q13. Express the following in the form a+ib

5 + √2i
1 – √2i

OR
Convert the complex number in the polar form
√3 + i 3

1
2

√3
  2

1
2

  1
√2

√3
  2

15
11

15
10

 5
11

 5
10

π
2

�
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Q14. Write the contra positive of the statement :
(i) If a number is divisible by 9, then it is divisible by 3.
(ii) If you are born in India, then you are citizen of India.
(iii) If a triangle is equilateral, it is isosceles. 3

Q15. Let U = { 1, 2, 3, 4, 5, 6}, A = {2, 3} and B = {3, 4, 5}
Find A', B', A'3B' and A4B 4

Q16. Let f(x) = x² and g(x) = 2x + 1 be two real functions. Find
(f + g) (x), (f – g)(x), (fg) (x),    (x) 4

Or
Find the domain of the function f(x) =

Q17. If cosx = –      x lies in the third quadrant, find the values of other five trignometric
functions. 4

Q18. Using Principle of mathematical induction for all n�N prove that :

1² + 3² + 5² + .................. + (2n –1)² = 4

Q19. Solve : √3x² – √2x + 3√3 = 0 4

Q20. Solve : 2(2x +3) – 10 < 6 (x – 2)
Or

Solve the system of inequalities :  3x – 7 < 5 + x
     11 – 5x ñ 1 4

Q21. Find the value of n, such that
  P5 = 42   P3 ; n>4 4

Q22. Insert 6 numbers between 3 and 24 such that the resulting sequence is an A.P. 4

Q23. Find the angle between the lines

y – 3x – 5 =0 and 3y –x + 6 = 0 4

Q24. Find the co-ordinates of the foci, the vertices, the lengths of major and minor axes

and the eccentricity of the ellipse 9x² + 4y² = 36

Or

Find the equation for the ellipse that satisfies the given conditions

vertices (± 5, 0), foci (± 4, 0) 4

f
g(  )

 x² + 2x + 1
x² – 8x  + 12

n(2n–1) (2n+1)
3

3
5

n n
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Q25. Show that the points A(1, 2, 3), B(–1, –2, –1), C(2, 3, 2) and D(4, 7, 6) are the vertices

of a parallelogram ABCD, but it is not a rectangle.         4

Q26. Find the derivative of 'x sin x' by the first Principle. 4

Q27. If tan x =     ,  � < x <      ,   find the value of sin    , cos       and tan

Or

Find the value of tan 6

Q28. Show that middle term in the expansion of (1 + 2x)2n is

    2n. xn

where n is a positive Integer. 6

Or

Find the term in dependent of x in the expansion of   3 –

Q29. Find the sum to n-terms of the series
7 + 77 + 777 + . . . . . . . . 6

Q30. Calculate the mean, variance and standard deviation for the following distribution :
Class 30-40           40-50    50-60 60-70      70-80 80-90         90-100
frequency    3    7        12    15           8     3    2

6
Q31. A die is thrown, find the probability of following events :

(i) A Prime number will appear,
(ii) A number greater than or equal to 3 will appear,
(iii) A number less than or equal to one will appear,
(iv) A number more than 6 will appear,
(v) A number less than 6 will appear. 6

Or
One card is drawn from a well shuffled deck of 52 cards. If each out come is equally
likely, calculate the probability that the card will be
(i) a diamond
(ii) not an ace
(iii) a blackcard (i.e. a clubor or a spade)
(iv) not a black card. 6

3
4

x
2

3�
2

x
2

x
2

1. 3. 5. . . . . .  (2n –1)
n !

7

13�
12

x3

6(   )
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ACCOUNTANCY
Unit wise Distribution of Marks

Time : 3hrs. M.M.100

PART A :- FINANCIAL ACCOUNTING-1
UNIT-1 :- Introduction to Accounting (7 Marks)
BREAK UP :-  2+2+3= 7 marks (3 Questions)

(All theory questions)
UNIT-2 :- Theory base of Accounting (7 Marks)
BREAK UP :-           3       +        4 = (7 Marks)

(Accounting + (Accounting (2 Questions)
Standards)   Concepts)

UNIT-3 :- Recording of Business Transactions (16 Marks)
BREAK UP :-         6 + 4   +     6 = (16 Marks)

(Practical         (Practical (Practical from
       or   or       B.R.S.
  Theory)           Theory)    or Theory) = (3 Questions)

UNIT - 4 :- Trial Balance and Rectification of Errors (8 Marks)
BREAK UP  :-      4     +       4 = (8 Marks)

Theory (Practical
from Errors &
Rectifications) (2 Questions)

UNIT-5 :- Depreciation, Provisions and Reserves  (12 Marks)
BREAK UP  :-      4     +       8 = (12 Marks)

(Theory) (Practical) (2 Questions)
UNIT-6 :- Accounting for Bills of Exchange (10 Marks)
BREAK UP :-       4     +        6 =          10 Marks (2 Questions)

 (Theory)          (Practical)

PART B :- FINANCIAL ACCOUNTING-II
UNIT- 7 :- Finanical Statements (25 Marks)
BREAK UP :- 4 + 11 (a) + (b) + 10 = 25 marks

4 (Theory) + 11 (a) 3 Theory + (b) 8 Theory + (10 Practicals)
Note :
One Question of 4 marks (Theroy)
(a) 3 marks (Theory of Presentation of Final A/Cs).
(b) 8 marks (Accounting Treatment from Adjustments)
10 marks (Pratical with Simple Adjustments) (3 Questions)

UNIT - 8 :- Computers in Accounting (10 Marks)
BREAK UP :-       4       +      6

(Theory) (Theroy) (2 Questions)
UNIT - 9 :- Accounting and Database System. (5 Marks)
Break Up :- Only one question of 5 marks (Choice) (1 Question)
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ACCOUNTANCY

Time : 3hrs. M.M.100

lkekU; funsZ’k %&lkekU; funsZ’k %&lkekU; funsZ’k %&lkekU; funsZ’k %&lkekU; funsZ’k %& (General Instructions)

1. Question Paper is divided into two parts, Part A and Part-B. Part-A carries 60
marks and Part-B carries 40 marks.
ç’u i= dks nks Hkkxksa esa ckaVk x;k gSA Hkkx&d vkSj Hkkx&[kA Hkkx&d ds 60 vad rFkk

Hkkx&[k ds 40 vad gSA

2. All Questions are Compulsory
lHkh iz’u vfuok;Z gSA

3.  Marks are indicated against each question.
izR;sd iz’u ds vad vkxs n’kkZ,  x, gSA

4. Answer should be brief and according to marks allotted.
mÙkj laf{kIr vkSj vadksa ds vuqlkj gksus pkfg,A

      PART-A  ¼Hkkx&d½¼Hkkx&d½¼Hkkx&d½¼Hkkx&d½¼Hkkx&d½

Q1. Define the term Accounting.      (2)
ys[kkadu dks ifjHkkf’kr dhft,A

Q2. Give any two characteristics of Accountancy (2)
ys[kkadu dh dksbZ nks fo’ks’krk,a fyf[k,A

Q3. Differentiate Book Keeping and Accountancy        (3)
iqLrikyu vkSj ys[kkdeZ esa vUrj dhft,A

Q4. Explain the following :-
fuEufyf[kr dh O;k[;k dhft, %&

(1) Going Concern Concept ¼pkyw vo/kkj.kk½

(2) Money Measurement Concept. ¼eqnzk eki vo/kkj.kk½ (4)

Q5. Define Accounting standards. Explain its any two objectives.           (2+1=3)
ys[kkadu çekiksa ls D;k vfHkizk; gS fdUgh nks mís’;ksa dk o.kZu djsaA

Q6. Journalise the following Transactions.
(1) Started business with cash Rs. 10,000.
(2) Wages paid Rs. 500.
(3) Furniture Purchased from Ram Lal & Son Rs. 2000.
(4) Cash Purchases Rs. 2600.
(5) Goods sold on Credit to Sham Rs. 3000.
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(6) Outstanding Expenses Rs. 70.
(6)

(OR) ¼;k½

What do you mean by Double Entry System? Give its advantages.
nksgjh ys[kkiz.kkyh ls D;k le>rs gSa \ buds ykHkksa dk o.kZu djsaA

Q7. Show the Accounting equation on the basis of following transactions:-
(1) Ram started business with cash Rs. 20,000
(2) Purchased goods for cash Rs. 10,000.
(3) Goods sold to Mohan Rs. 5000
(4) Withdrew for private use Rs. 1000       (4)

(OR)  ¼;k½

What do you mean by Imprest system of Petty cash book ? Gives its advantanges.
y|q jksdM+ ogh dh vxznk; iz.kkyh D;k gS \ blds ykHk fyf[k,A

Q8. Prepare B.R.S. from following Transactions :-
(1) Overdraft as per Pass Book Rs. 540 as on dated 30 June 2007.
(2) Cheque issued but not presented for payment upto 30 June 2007 Rs. 3000.
(3) Cheque deposited into Bank But not cleared upto 30 June 2007 Rs. 3500.
(4) Interst on overdraft as pass book not entered in cash book Rs. 60.
(5) Interest on investment collected by bank not entered in cash book Rs. 600
(6) Discounted bill of Exchange, dishonoured Rs. 600.

(OR) ¼;k½

cSad lek/kku fooj.k ls D;k vfHkizk; gS\ bls cuk;k tkuk D;ksa vko’;d gS\

What do you mean by Bank Reconciliation statement ? Why it is to be prepared?       (6)

Q9. Rectify the following errors :-
(1) Sales return book undercast by Rs. 100.
(2) Furniture Purchased for Rs. 500 but recorded in Purchase book.
(3) Rs. 100 charged as depriciation on Machine but not posted to dep. account.
(4) Purchase book had been over cast by Rs. 150.        (4)

Q10. Describe the errors not disclosed by trial Balance.
mu v’kqf);ksa dk o.kZu djsa ftuds Trial Balance ls irk ugha pyrkA      (4)

Q11. What do you mean by “Reserve” and “Provision.” Give any four examples of each.    (4)
lap; ,oa vk;kstu ls D;k vfHkizk; gS\ buds dksbZ pkj&pkj mnkgj.k nhft,A

Q12. On Ist April 2004 a Businessman purchased Furniture for Rs. 38,000 and spent
Rs. 2000 on its installation. On 01 July 2005,  he purchased additional furniture of
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Rs. 10,000. The furniture purchased on 1st April, 2004 was sold for Rs. 25,000.
Prepare furniture account from 2004 to 2005 after charging Dep. @10% p.a. on
diminishing balance method. Assume A/cs are closed on Dec. 31, every year.       (8)

Q13. What do you mean by  Bill of Exchange ? Give its specimen proforma. (4)
fofu;e foi= ls D;k vfHkizk; gSA bldk çk:i cukb,A

Q14. On Ist Jan 2006 X’s sold goods to Y’s Rs. 3000 and drew a bill for 3 months only. Y
accepted bill. X discounted bill at his bank at 8% p.a. On 20 march  Y  being unable to
meet the bill offers X Rs. 1000 and request him to draw a new bill on him at two
months, for balance plus interest at 12%  p.a. X accept it and on maturity the bill is duly
met. Pass journal entries in the book of  X and Y.       (6)

PART-B Hkkx&[k

Q15. What are the objective of preparing Financial Statement? (4)
fofr; fooj.k oukus ds D;k mís’; gSa \

Q16. (a) Discuss the need of preparing Balance Sheet. (3)
vkfFkZd fpV~Bk cukus dh D;k vko’;drk gS\ O;k[;k djsaA

(b) How are the following adjustment treated in final accounts.
(1) Closing stock ¼vafre jgfr;k½
(2) O/S Expenses ¼vnÙk O;;½
(3) Income received in Advance.¼vuqikftZr vk;½

(4) Depreciation ¼ál½ (2 x 4 = 8)

Q17. From the following balances of M/s. Kumar and Co. prepare trading and P and loss a/c.
and Balance Sheet on Dec 31, 2003.

Capital(Rs.) 12000 (Rs.)

Plant & Machinery 5000 Bad Debts 300
Debtors 2500 Carriage 250
Creditors 1400 Bank 1000
Drawings 1100 Repair 60
Purchases 12,500 Stock (Opening) 2500
Wages 3,000
Return Outwards 600 B/P 600
Rent Received 160 Return inward. 450
Sales 15,400
Manufacturing Exp. 700 -
Trade Expenses 800 -
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Adjustments :-
(1) Closing stock was valued  Rs. 1550.
(2) Wages Prepaid 200 (10)

Q18. ys[kkadu esa dE;wVj dh egrk dk o.kZu djsaA

Discuss the role of coumputer in the field of Accounting. (4)

Q19.  ekuoh; rFkk dEi;wVjkbZt+M ys[kkadu fof/k;ksa esa vUrj dhft,A

Differentite between Manual and Computerised Accounting System. (6)

Q20. ljy <k¡pk MkVkcsl ekMy dk o.kZu dhft,A

Explain the simple structure data base model. (5)
OR ¼;k½

Vscy dh O;k[;k dhft, bls dSls cuk;k tkrk gS \

Explain the Term Table. How it is created ?
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BUSINESS STUDIES

UNIT WISE DISTRIBUTION OF MARKS

Time Allotted : 3 hrs M.M.  90

Part A – Foundation of Business

Unit I :- Nature and Purpose of Business  (8 marks)
Break up :- 2+2+4 = 8  marks (3 Questions)
Unit II :- Forms of Business Organisation  (12marks)
Break up :- 2+2+2+6 (choice) = 12 marks ( 4 questions)
Unit III  :- Private, Public and Global Enterprises (10 marks)
Break up :- 4 +6 (choice) = 10 marks (2 questions)
Unit IV :- Business Services (8 marks)
Break up :- 3+5 = 8 marks ( 2 questions)
Unit V :- Emerging modes of Business ( 6 marks)
Break up :- 3+3 = 6 marks (2 questions)
Unit VI :- Social Responsibilities of Business and Business Ethics (6 marks)
Break up :- 6 marks (choice) ( 1 questions)

Part - B ( Corporate Organisation, Finance and Trade)

Unit VII :- Formation of a Company (7 marks)
Break up :- 3+4 = 7 marks ( 2 questions)
Unit VIII :- Sources of Business Finance (10 marks)
Break up :- 3+3+4 = 10 marks ( 3 questions)
Unit IX :- Small Business ( 7 marks )
Break up :- 2+5 = 7 marks ( 2 questions)
Unit X :- Internal Trade ( 10 marks )
Break up :- 3+3+4 = 10 marks (3 questions)
Unit XI :- International Business ( 6 marks )
Break up :- 6 marks ( choice)  ( 1 question).
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BUSINESS STUDIES

Time Allotted :- 3 hrs  M.M. 90

General Instructions:-
1) All questions are compulsory.
2) Answer should be in brief and to the point.
3) Marks are indicated against each question.

PART - A (Foundation of Business)

1) vkfFkZd fØ;k,¡ D;k gSa \

What are economic activities? 2

2) ,dkdh O;kikj ds dksbZ nks ykHk crk,aA

Give any two advantages of Sale trade. 2

3) O;olk; o jkstxkj ls D;k vfHkçk; gS \

What do you mean by Business and Employment? 2

4) futh miØeksa ds fofHkUu çdkj D;k gSa \

What are the various types of Private Enterprises? 2

5) la;qDr fgUnw ifjokj O;olk; ls D;k vfHkçk; gS \

What do you mean by Joint Hindu Family Business? 2

6) cSad esa [kkrk [kksyus ds D;k ykHk gSa \

What are the advantages of opening bank account?  3

7) bZ&dkeWlZ ds ykHk crkb,A

Explain the advantages of E-commerce? 3

8) fofHkUu çdkj dh i=&okgd ;k dksfj;j lsok,a D;k gSa \

What are the various types of courier services? 3

9) m|ksxksa ds fofHkUu çdkjksa dk o.kZu djsaA

Explain the different types of Industries. 4

10) futh o lkoZtfud miØeksa esa vUrj Li”V djsaA

Differentiate Private and Public Enterprises. 4

11) chek ßije~ ln~fo’oklÞ dk le>kSrk gSA le>kb,A

Insurance is a Contract of “utmost good faith”. Discuss. 5
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12) lk>snkjh ls D;k vfHkçk; gS \ lk>snkjh lysa[k ds eq[; rRo D;k gSa \

What do you mean by partnership deed? Explain its main contents. 6
OR

lgdkjh laxBu ls D;k vfHkçk; gS \ blds D;k ykHk gSa \

What do you mean by cooperative organisation? Give its advantages.

13) cgqjk”Vªh; dEiuh;ksa dks ifjHkkf”kr dhft, ,oa bldh çeq[k fo’ks”krkvksa dks crkb,A

Define Multinational Companies, and give its main characteristics. 6
OR

lkoZtfud fuxe D;k gS \ buds ykHk crkb,A

What do you mean by Public Enterprises? Give its advantages.

14) O;olk; ds lkekftd mÙkjnkf;Ro ls D;k le>rs gSa \ Jfedksa ds çfr O;olk; dk D;k

mÙkjnkf;Ro gS \

What do you mean by social responsibilities of Business? What are the responsibili-
ties of business toward labourers.

OR
O;olkf;d uSfrdrk ds rÙoksa dk o.kZu dhft,A

Explain the elements of Business Ethics. 6

PART - B
(Corporate Organisation, Finance and Trade)

15) y?kqLrjh; m|ksx fdls dgrs gSa \

What do you mean by Small Scale Industries? 2

16) LFkkukiUu&çfooj.k D;k gS \

What is statement-in-lieu of Prospectus. 3

17) lkoZtfud tek dks le>kb,A

Explain Public deposits. 3

18) va’k ,o _.k i= esa Hksn Li”V djsaA

Differentiate Share and Debenture. 3

19) vkUrfjd O;kikj fdls dgrs gSa \ ;g fdrus çdkj dk gksrk gS \

What is internal Trade? What are its types? 3

20) ÝSpkbt ls vki D;k le>rs gSa \

What do you mean by Franchise? 3

21) ik”kZn lhek fu;e esa dkSu&2 ls okD; gksrs gSa \

What are the various clauses of Memorandum of Association? 4
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22) GDR vkSj ADR ij ys[k fy[kksA

Write a short note on GDR and ADR. 4

23) lqij cktkj fdls dgrs gSa \ bldh fo’ks”krk,a fyf[k,A

What do you mean by super bazar? Give its characteristics. 4

24) xzkeh.k fiNM+s ,oa igkM+h {ks=ksa esa foÙkh; lgk;rk ij ,d ys[k fyf[k,A

Write a note on special Financial assistance available to industries in rural backward
and hilly areas.          5

25) vUrjkZ”Vªh; O;kikj ls vki D;k le>rs gSa \ ;g ns’kh O;kikj ls fdl çdkj fHkUu gSa \

What do you understand by International Trade? In what respect it is different from
Home Trade.

OR
fo’ks”k vkfFkZd tksu us fdl rjg fu;kZr lao)Zu ds fy, okrkoj.k cuk;k gS \

How do Special Economic Zones provide a different environment for Export
Promotion?         6
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BUSINESS STUDIES
PROJECT REPORT

Total Marks = 4+6
Viva = 04 marks
Project file = 06 marks

Preparation of Project report :-
Project report must include the following contents :-
1) Subject of Project.
2) Planning of Project.
3) Method of collecting the data.
4) Analysing the data.
5) Interpretation of the data.
6) Suggestions

For Example :-
1) Find out the local sample business units. The various objective they pursue.
2) Survey the popularity of credit card issued by the bank.
3) Study of a small business regarding sources of finance.

Note : The examination of project work (Practical) will be conducted internally by the
concerned schools. Marks obtained by the candidate should be intimated to the Board
in the month of Feb. every year.

However the candidate appearing in the capacity of private candidates shall have to get
his Project Work examined at an institution / Examination Centre notified by the Board
for the purpose.
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laxhr

fgUnqLrkuh rU=ok| MELODIC

Time : 3 Hrs. M.M. 30

uksV % dksbZ ikap ç’u djsaA

Note : Do any five questions.

1) nqxkZ jkx dh jtk[kkuh xr vkjksg&vojksg lfgr fy[ksaA

Write the Razakhani Gat of Raga Durga with Aroh-Avroh. 4+ 2 = 6

2) ckjg ek=k ds rky ds cksy] rkyh] nqxqu lfgr fy[ksaA

Write Twelve Matras Tala with Bol, Talli and Dugun. 2+2+2 = 6

3) ikB~;&Øe ds fdlh ,d laxhrK dk laxhr {ks= esa dk;Z ,oa ;ksxnku dk o.kZu ljy

‘kCnksa esa djsaA

Write the works and contribution of any one musician in simple words, in the field of
music.          6

4) /kzqoin ‘kSyh ls vki D;k le>rs gSa \ vius ‘kCnksa esa o.kZu djsaA

What is meant by Dhrupada? Explain it in your own words. 6

5) d½ Loj lewg igpku dj rhu jkxksa ds uke crk,a rFkk vkjksg&vojksg fy[ksaA

a) Identify the Swar-Smoohas and point out the three names of Rages with Aroh
and Avroha.        1+1+1 = 3

¼d½ /k  e  js  /k+  lk  js  i]  i  /k] e  i] js  e] lkjs] /k+ lkA

¼[k½ js  e  i] fu  /k  i] /k  e  i] x ·  js  lk] e  i  /k  fu  lkaA

¼x½ x  js  x  i]  e  x  e  js  lk]  x  i  /k  fu  lka]  /k  fu  /k  i]

e  x  e  js  lkA

¼M-½ lk  lk]  js js] x  x] e  e] i & x  js  lkA

b) fdlh jkx dk ifjp; vkjksg&vojksg lfgr  fy[ksaA

Write the Introduction of any Raga with Aroha and Avroha. 3

6) ifjHkk”kk,a fy[kks %

FkkV] ukn] jkx] Loj] rky] vkjksg&vojksg] xrA

Define of the following.
That, Nad, Raga, Swar, Tala, Aroh-Avroha, Gat. 1 x 6 = 6
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laxhr

rU= ok| ¼rcyk] i[kkot½ PERCUSSION

Time : 3 Hrs. M.M. 30

uksV % dsoy ikap ç’u djsaA

Note : Do any five questions.

1) fdUgha N% dh laf{kIr ifjHkk”kk,a fy[ksaA

i) dk;nk ii) eksgjk iii) iju iv) ukn
v) xr vi) Loj vii) Jqfr viii) eq[kM+k
Write brief definitions of any six of the following
i) Kayada ii) Mohra iii) Paran iv) Nad
v) Gat vi) Swar vii) Shruti viii) Mukhra. 1 x 6 = 6

2) laxhr lezkV rkulsu dk laxhr ds {ks= esa ;ksxnku vius ‘kCnksa eas fy[ksaA

Write the contribution of Sangeet Samrat Tansen in the field of music. 6

3) ,drky pkSrky dh rqyuk] ek=k] cksy] rkyh lfgr Bsdk fy[ksaA

Compare Ektal and Chutala and also write the Theka with Matra, Bole, Tali. 3+3=6

4) [;ky dk laf{kIr bfrgkl] [;ky ds çdkj rFkk [;ky ds lkFk ctk, tkus okys rkyksa

ds uke fy[ksaA

Write the brief history of Khayal, kinds of Khayal and also write the names of the Tala
which are played with Khayal.        2+2+2=6

5) Hkkjrh; laxhr esa dk;nk fdls dgrs gSa \ rhu rky dk dksbZ ,d dk;nk rkyh cksy

lfgr fy[ksaA

In the Indian music what do you mean by Kayada? Write one Kayada of Teentala with
Tali and Bole. 3+3=6

6) rhu rky dk laf{kIr ifjp; Bkg] pkSxqu lfgr fy[ksaA

Write the brief introduction of Teentala with Thah and Chaugun. 2+2+2=6
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laxhr

fgUnqLrkuh laxhr ¼xk;u½ VOCAL

Time : 3 Hrs M.M.  30

uksV % dksbZ ikap ç’u djsaA

Do any five questions.

1) ikB~;Øe ds fdlh ,d euilUn jkx dh cfUn’k] Loj&foLrkj lfgr fy[ksaA

Write a composition of your choice Raga from your syllabus with simple Swara-Vistar.
4+2 = 6

2) ¼d½ jkx vkSj FkkV dh rqyuk djsaA

a) Compare Raga and Thata.

¼[k½ [;ky vkSj /kzqin dh rqyuk djsaA

b) Compare Khayal and Dhrupada. 1½ x 4 = 6

3) ia- fo”.kq fnxEcj IyqLdj dk thou pfjr] laxhr ds {ks= esa fd, x, dk;ksZa dk mYys[k

ljy ‘kCnksa esa djsaA

Write the life sketch of Pt. Vishnu Digamber Paluskar mentioning his various achieve-
ments in the field of music.        6

4) pkSrky dh Bkg] nqxu ek=k] cksy] rkyh lfgr fy[ksaA

Write Thah, Dugun of Ektala with Matra, Bole, Tali. 6

5) ¼d½ Loj lewg igpku dj jkxksa ds uke crk,a rFkk vkjksg vojksg fy[ksaA

a) Identify the Swar-Smoohas and point out the names of Ragas with Aaroh and
Avroha.

¼v½ x  js  x  i  /k  fu  lka]  /k  fu  /k  i]  e  x]  e  js  lkA

¼c½ x  e  /k  e] fu  /k  e] x  e  /k  e]  x  e  x  ekA

¼l½ js  e  i  fu  /k  i]  /k  e  i]  x  ·  js  lk] js  e  iA

¼p½ /k  e  js  i] /k  e  js]  /k  lkA

¼[k½ vYgS;k foykoy dk ifjp; vkjksg&vojksg lfgr fy[ksaA

b) Write the introduction of Alhaiyya-Bilawal with Aaroh - Avroha. 4+2 = 6

6) ¼d½ jkx oxhZdj.k ls vki D;k le>rs gSa \

a) What do you mean by classification of Ragas?

¼[k½ ikB~;Øe ds fdlh ,d jkx esa Loj ekfydk ;k y{k.k xhr fy[ksaA

b) Write one Swarmalika or Lakshan Geet from your syllabus. 3+3 = 6
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HOME SCIENCE
x`g foKku

le; % rhu ?k.Vs dqy vad % 70

uksV % lHkh ç’u vfuok;Z gSaA

Note : Attempt all the questions.

1- x`g foKku ls D;k vfHkçk; gSA x`g foKku ds dk;Z{ks= dkSu&dkSu ls gSaA 2

Define Home Science. List the areas of Home Science.

2- iwoZ fd’kksjkoLFkk vkSj mÙkj fd’kksjkoLFkk esa D;k vUrj gS \ 1

Differentiate between early and late adolescent.

3- L=h ds v.Ms o iq#”k ds ‘kqØk.kq esa ik;s tkus okys xq.k lq= dh la[;k fdruh gS \  1

How many chromosomes are there in egg cell and sperm cell of human beings?

4- lkekftd o HkkokRed fodkl esa D;k lekurk gS \ 2

What is common in Social and Emotional development?

5- D;k fd’kksjksa dks ;kSu f’k{kk nh tkuh pkfg, \ ;fn gka rks fof/k crkb,A 2

Should sex education be provided to adolescents? If yes, suggest ways.

6- Kku D;k gS \ KkukRed fodkl dh fofHkUu voLFkk,a dkSu lh gSaA fdUgha nks dk o.kZu

djksA      3

Define cognition. List the various steps of cognitive development. Explain any two.

7- vkuqoaf’kdrk D;k gS \ dkSu&dkSu ls vkuqaof’kd jksx cPps dks vius ekrk firk ls feyrs

gSa\      4

What is heredity? List the inherited diseases which get passed on from parents to
children. Explain.

8- tula[;k foLQksV D;k gS \ tula[;k foLQksV dks çHkkfor djus okys dkjdksa dk o.kZu

djsaA      4

Define population explosion. Discuss the factors responsible for over population.

9- W.H.O. ds vuqlkj vPNk LokLF; D;k gS \ 1

Define health according to W.H.O.

10- loksZÙe iks”k.k rFkk dqiks”k.k esa D;k vUrj gS \ 1

Differentiate between optimum nutrition and malnutrition.
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11- Hkkstu D;k gS \ Hkkstu ds ‘kkjhfjd dk;ksZa dk o.kZu djsaA 2

Define food. Discuss the physical functions of the food.

12- euq”; ds ‘kjhj esa fdrus vehuks vEy dh vko’;drk gksrh gSA P.E.M. dk iwjk uke D;k

gS \      2

How many amino acid are required during adult life? Write the full form of P.E.M.

13- Hkkjr esa dqiks”k.k ds D;k dkj.k gSa \ o.kZu djsaA 3

Discuss the various causes of malnutrition in India.

14- lUrqfyr vkgkj D;k gS \ lUrqfyr vkgkj dks dkSu&2 ls rÙo çHkkfor djrs gS \ o.kZu

djsA      4

What do you mean by balanced diet. Discuss the various factors which affect the
balanced diet.

15- ?kj ij [kk| inkFkksZa dk ikSf”Vd ewY; c<+kus dh fof/k;k¡ dkSu&dkSu lh gS \ o.kZu

djsA      4

Discuss the different methods for enhancing the nutritive value at home.

16- lk/ku D;k gSa \ lk/kuksa dk oxhZdj.k djsaA 1

Define resources classify them.

17- ?kj esa fo|qr ds nq:i;ksx dks jksdus ds nks mik; crkb,A 1

Name two ways to check electricity wastage at home.

18- vk;kstu D;k gS \ ,d lQy ;kstuk esa dkSu&2 lh fo’ks”krk,a gksuh pkfg, \ 2

Define management. Name the various characteristics that are essential for any
successful plan.

19- Fkdku fdls dgrs gSa \ nks çdkj dh Fkdku ds uke fy[kksA Fkdku dks nwj djus ds

mik; fy[kksA      2

Define fatigue. List the two kinds of fatigue. How can you reduce the fatigue ?

20- milk/ku D;k gS \ pkj milk/kuksa ds uke crkb, rFkk mi;ksx ds vk/kkj ij oxhZÑr

djsaA      3

What are accessories? List four accessories and categorise them according to the
purpose they serve.

21- dk;Z uSfrdrk D;k gS \ dk;Z uSfrdrk ds fodkl dks çHkkfor djus okys dkjd dkSu ls

gSa \ o.kZu djsaA      4

What is work ethic? Explain the various factors essential for the development of work
ethics.
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22- fofHkUu jax ;kstukvksa dks oxhZÑr djsa rFkk mnkgj.k Hkh nsaA 4

Categorise different color schemes. Explain briefly with suitable examples.

23- rUrq fdls dgrs gSaA 1

What is fiber.

24- rUrqvksa dk oxhZdj.k djsA 1

Classify the fiber.

25- Vsjhowy vkSj VsjhflYd esa D;k vUrj gS \ 2

Differentiate between terrywool and terrysilk.

26- :bZ dh pkj HkkSfrd fo’ks”krk,a fy[kksA 2

Write the four physical properties of cotton.

27- fofHkUu çdkj dh cqukoVksa dk o.kZu djsaA 3

Discuss the various types of weaves.

28- jax dh ifjHkk”kk fy[ksaA jax dh fofHkUu rduhdksa ds fo”k; esa o.kZu djsaA 4

Define a dye. Give a brief account of the various dyeing techniques.

29- fuEufyf[kr ij uksV fy[ks %

1½ dM+kiu ykuk

2½ VsaVfjx 4

Write short note on :-
a) Stiffening.
b) Tentering.
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YOGA  (THEORY)

Time Allowed : 3 Hours M.M. : 70

1- ijh{kkFkhZ ;FkklEHko vius ‘kCnksa esa gh mÙkj nsaA

The candidates are required to give their answers in their own words as far as
possible.

2- çR;sd ç’u ds vad blds lkeus fn, x, gSaA

The marks allotted to each question are indicated against it.

uksV % çR;sd ijh{kkFkhZ dks dqy lkr ç’u gy djus gksaxsA çFke Hkkx ls dqy pkj ç’u

,oa f}rh; Hkkx ls rhu ç’u djus vfuok;Z gSaA

A Candidate is required to attempt seven questions in all i.e. four questions
from Part - I and three questions from Part - II.

çR;sd ç’u ds lHkh Hkkx ,d lkFk gy dhft,A

Attempt all parts of a question together.

Hkkx & 1

(Part - I)

çå1 ;ksx dk D;k vFkZ gS \ foLrkj ls o.kZu djksA

Define Yoga. Explain in detail. (10)
vFkok (OR)

ß;ksx% deZlqdkS’kye~Þ ;qfDr dks /;ku esa j[krs gq;s ;ksx ds foLr`r vFkZ dks Li”V djsaA

“Yoga is skill in action”. Explain in detail. (10)

çå2 ;ksx ds y{;ksa ,oa mís’;ksa dk o.kZu djksA

What are the aims and objectives of Yoga ? Explain. (4, 6)
vFkok (OR)

;ksx dk vk/kqfud ;qx esa D;k egRo gS \ foLrkj ls o.kZu djksA

What is the importance of yoga in the present modern world. Explain in detail.    (10)

çå3 ;ksx ds eq[;r% fdrus çdkj gSa \ buesa ls HkfDr ;ksx dk foLrkj ls o.kZu djsaA

What are the main types of yoga ? Explain in detail Bhakti Yoga. (4, 6)
vFkok (OR)

jkt;ksx D;k gS \ blds fofHkUu vaxksa dk la{ksi esa o.kZu djksA

What is Raja Yoga. Explain in brief its aspects. (4, 6)

çå4 v”Vkax ;ksx D;k gSa \ blds çFke pkj vaxksa dk la{ksi esa o.kZu djksA

What is Ashtanga Yoga ? Explain in brief its first four aspects. (5, 5)
vFkok (OR)
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;e vkSj fu;e dk foLrkj ls o.kZu djksA

Explain in detail Yamas and Niyamas. (5, 5)

Hkkx & 2

(Part - II)

çå5 vklu ls D;k vfHkçk; gS \ ;ksxklu djus ds D;k ykHk gSa \

What is Asana ? What are the benefits of doing yogasanas ? Explain. (4, 6)
vFkok (OR)

vklu ls D;k vfHkçk; gS \ ;ksxkluksa dks eq[;r% fdrus Hkkxksa esa ckaVk tk ldrk gS \

çR;sd Js.kh esa ls fdUgha rhu&2 vkluksa ds uke fy[kksA

What do you mean by Asana ? Classify main types of yogasanas. Give the names of
three asans from each category. (3, 5, 2)

çå6 ;ksx f’k{kk ds dk;Z{ks= ,oa bldh lhekvksa dk o.kZu djksA

Write in detail the scope of yoga education and explain its limitations. (6, 4)
vFkok (OR)

“kVdeZ ls D;k vfHkçk; gS \ bldh fofHkUu fof/k;ksa dk la{ksi esa o.kZu djksA

What is Shatkarma ? Explain in brief the types of this purificatory process. (4, 6)

çå7 ;ksx dh LokLF; ,oa vkjksX;rk ls lEcfU/kr igyqvksa dk o.kZu djksA

What is the relationship of yoga with regard to physical wellness and freedom from
disease.    (10)

vFkok (OR)
;ksx ds }kjk fuEufyf[kr fcekfj;ksa dk mipkj fdu&2 ;ksfxd fØ;kvksa ds }kjk fd;k

tk ldrk gS \ fdUgha nks fcekfj;ksa ds y{k.k rFkk dkj.kksa dk Hkh o.kZu djsaA

¼1½ ok;q fodkj ¼2½ mPp jDr pki ¼3½ lk/kkj.k tqdke

Explain the symptoms and causes of any two diseases and their treatment through
yogic thereupetic measures.
(i) Gastric acidity (ii) High blood pressure (hypertension)
(iii) Common cold. (5, 5)
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